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g‘mOH$ë¶mU ghm¶H$ Am¶wº$  narjm Aä¶mgH«$‘
* ‘amR>r
1) gd©gm‘mÝ¶ eãXg§J«h
2) dm³¶aMZm
3)  ì¶mH$aU
4) åhUr d dm³àMma ¶m§Mm AW© Am{U Cn¶moJ B.

* B§J«Or
1) Common Vocabulary

2) Sentence structure

3) Grammar

4) Uses of Idioms and phrases and their meaning etc.

g‘mO H$ë`mU AÜ``Z

1) g‘mO H$ë`mU AÜ``Z
2) g_mOH$ë¶mU  àemgZ
3) ^maVr¶ gm‘m{OH$ g‘ñ¶m d Cnm¶¶moOZm
4) g~brH$aU d gm‘m{OH$ gwajm g§X^m©Vrb H$m¶Xo
5) J««m‘rU g‘mO gwYmaUm CnH«$‘
6) H$ë¶mUH$mar amÁ¶
7) ‘mZdr h¸${df¶H$ ~m~r
8) g‘mOH$m¶m©À¶m g§~§{YV g‘mOemó, ‘mZgeñó/{ejU d AW©emó
9) _mZdr A{^d¥Õr d ì¶{º$‘Îd {dH$mg -  ì`{º$‘Îd d gm‘mOrH$aU
10) ‘yc ŷV g§emoYZ kmZ

gm‘mÝ¶ AÜ``Z

11) AmYw{ZH$ ^maVmMm {deofV: ‘hmamï´>mMm B{Vhmg, g‘mO gwYmaH$m§Mo H$m¶©
12) ^maVmMm {deofV: ‘hmamï´>mMm ŷJmoc
13) hdm‘mZ ~Xc, H$maUo n[aUm‘ d Cnm¶, AmnÎmrMo n[aUm‘ d ì¶dñWmnZ
14) ^maVr¶ amÁ¶ì¶dñWm
15) AW©ì¶dñWm
16) {dkmZ
17) amï´>r¶ d Am§Vaamï´>r¶ Mmcy KS>m‘moS>r
18) ~w{Õ‘Îmm MmMUr
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g‘mO H$ë`mU AÜ``Z
1) g‘mO H$ë`mU AÜ``Z
2) g_mOH$ë¶mU  àemgZ
3) ^maVr¶ gm‘m{OH$ g‘ñ¶m d Cnm¶¶moOZm
4) g~brH$aU d gm‘m{OH$ gwajm g§X^m©Vrb H$m¶Xo
5) J««m‘rU g‘mO gwYmaUm CnH«$‘
6) H$ë¶mUH$mar amÁ¶
7) ‘mZdr h¸${df¶H$ ~m~r
8) g‘mOH$m¶m©À¶m g§~§{YV g‘mOemó, ‘mZgeñó/{ejU d AW©emó
9) _mZdr A{^d¥Õr d ì¶{º$‘Îd {dH$mg -  ì`{º$‘Îd d gm‘mOrH$aU
10) ‘yc ŷV g§emoYZ kmZ

(5) J««m‘rU g‘mO OrdZ
1) J««m‘rU g‘mO OrdZ, ~cwVoXmar nÕV, OmVr ì¶dñWm d OmVr ì¶dñWoMm g‘mOmda hmoUmam n[aUm‘.
2) O‘rZ YmaUm ‘Yrc Ag‘mZVm, {d{dY nÕVr - O‘rZXmar, a¶Vdmar, ‘hmcdmar, ImoVr nÕV
3) ñdV§Ì ̂ maVmVrc O‘rZ ‘mcH$s gwYmaUm CnH«$‘, ̂ yXmZ Midi d J«m‘XmZ Midi g‘mO gwYmaH$m§Mo H$m¶©

(6) H$ë¶mUH$mar amÁ¶

1) H$ë¶mU, {dH$mg, g~brH$aU
2) emídV {dH$mg - E‘S>rOr, EgS>rOr
3) ‘Zwî¶~i {dH$mg
4) gd©g‘mdoeH$Vm

5) àmXo{eH$ Ag‘Vm

(7) ‘mZdr h¸${df¶H$ ~m~r
1) g§H$ënZm - Am§Vaamï´>r` _mZdr h¸$ _mZH$
2) _mZdr h¸$ g§X^m©Vrc ̂ maVr` amÁ`KQ>ZoVrc VaVyX
3) ^maVmVrc _mZdr h¸$ d O~m~Xmè`m §̀ÌUoMr A§_c~OmdUr d g§ajU, ^maVmVrc _mZdr h¸$ Midi,
4) ‘mZdr A{YH$mam§Mm OmJ{VH$ OmhraZm‘m, 1948
5) ‘mZdr A{YH$mam§Mm OmJ{VH$ OmhraZm‘m, 1966
6) _mZdr h¸$mnmgyZ d§{MV amhÊ`mÀ`m g_ñ`m, Jar~r, {ZajaVm, ~oH$mar, gm_m{OH$ - gm§ñH¥${VH$ - Ym{_©H$ àWm ̀ mgma»`m

AS>MUr, ([h§gmMma, ̂ «ï>mMma, XheVdmX, H$m_Jmam§Mo emofU, g§a{jV JwÝhoJmar, BË`mXr.)
7) amï´>r¶ ‘mZd A{YH$ma Am¶moJ  , amÁ¶ ‘mZd A{YH$ma Am¶moJ
8) amḯ>r¶ ‘mJmgdJu¶ Am¶moJ
9) amḯ>r¶ AZwgy{MV OmVr Am¶moJ
10) amÁ¶ AZwgy{MV OmVr d AZwgy{MV O‘mVr Am¶moJ
11) amḯ>r¶ AZwgy{MV O‘mVr Am¶moJ
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12) amḯ>r¶ ‘{hcm Am¶moJ , amÁ¶ ‘{hcm Am¶moJ
13) amḯ>r¶ Aëng§»¶m§H$ Am¶moJ
14) ‘m{hVr Am¶moJ
15) amÁ¶ ‘mJmgdJ© Am¶moJ

(8) g‘mOH$m¶m©À¶m g§~§{YV g‘mOemó, AW©emó
1) g‘mOH$m¶m©À¶m g§~§{YV g‘mOemó
2) g‘mOH$m¶m©À¶m g§~§{YV ‘mZgemó / {ejUemó
3) g‘mOH$m¶m©À¶m g§~§{YV AW©emó

(9) _mZdr A{^d¥Õr d ì¶{º$‘Îd {dH$mg -  ì`{º$‘Îd d gm‘mOrH$aU
1) {Zdmgr g§ñWmVrb {dÚmÏ¶m©§Mm ì`{º$‘Îd {dH$mg-

‘mZ{gH$, ~m¡{ÕH$, ì`{º$‘Îd d H$m¡eë¶ {dH$mgmVrb ̂ y{‘H$m, ZdrZ CnH«$‘
2) {Xì¶m§J ì¶º$s¨Mm ì`{º$‘Îd {dH$mg
3) _mZdr A{^d¥Õr d ‘mZd g§gmYZ {dH$mg
4) ì¶{º$‘Ëd {dH$mg -ì¶{º$‘Ëd d gm‘mOrH$aU
5) {ejU d _mZdr A{^d¥Õr
6) Amamo½¶ d _mZdr A{^d¥Õr

(10) ‘yc ŷV g§emoYZ kmZ
1) g§emoYZmMo  àH$ma, g§emoYZmMr à{H«$¶m
2) g§emoYZ AmamIS>m
3) g§emoYZ A{^`mo½`Vm
4) dmMZ AmH$bZ
5) AmYmagm_J«r AW©CH$b
6) AÜ`mnZ A{^`mo½`Vm
7) Cƒ {ejU nÕVr
8) ì¶mdgm{¶H$ {ejU H$m¡eë¶ {dH$mg
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g‘mO H$ë`mU AÜ``Z
1) g‘mO H$ë`mU AÜ``Z
2) g_mOH$ë¶mU  àemgZ
3) ^maVr¶ gm‘m{OH$ g‘ñ¶m d Cnm¶¶moOZm
4) g~brH$aU d gm‘m{OH$ gwajm g§X^m©Vrb H$m¶Xo
5) J««m‘rU g‘mO gwYmaUm CnH«$‘
6) H$ë¶mUH$mar amÁ¶
7) ‘mZdr h¸${df¶H$ ~m~r
8) g‘mOH$m¶m©À¶m g§~§{YV g‘mOemó, ‘mZgeñó/{ejU d AW©emó
9) _mZdr A{^d¥Õr d ì¶{º$‘Îd {dH$mg -  ì`{º$‘Îd d gm‘mOrH$aU
10) ‘yc ŷV g§emoYZ kmZ

(1) g‘mO H$ë`mU AÜ``Z
1) g‘mOH$m¶m©Mm B{Vhmg d VÎdkmZ, g‘mOemó d AW©emó
2) g‘mOH$m¶m©À¶m nÕVr
3) g‘mOH$m¶m©Mr ‘yë¶o d VÎdo
4) g‘mOH$m¶m©Mr joÌo
5) ^maVmVrb g‘mOH$m¶m©Mo à{ejU, gm‘m{OH$ H$m¶©H$Ë¶mªMr ŷ{‘H$m d ñd¶§godr g§ñWm§Mo ¶moJXmZ d hñVjon

(2) g_mOH$ë¶mU  àemgZ
1) gm‘m{OH$ Ý¶m¶ d g_mOH$ë¶mU  ImVo -g§ñWm, Am¶moJ
2) emgH$s¶ gm‘m{OH$ YmoaUo
3) amîQ´>r¶ d Am§Vaamï´>r¶ ñVamdarb YmoaUo
4) emgH$s¶ d AemgH$s¶ g§KQ>Zm§Mo H$m¶©H«$‘ d godm
5) àemgH$s¶ H$m‘H$mO d {Z¶‘mdbr
6) àemgH$s¶ gwYmaUm
7) Ý¶m¶m{YH$aU , Am¶moJ d g{‘Ë¶m
8) ñd¶§godr g§ñWm - àH$ma d ì¶dñWmnZ
9) {Zdmgr g§ñWm ì¶dñWmnZ - àemgH$s¶ {Z¶‘ d gw{dYm- dg{VJ¥hm§Mo CÔoe, àemgH$s¶ O~m~Xmar,

Am{W©H$ ~m~r, gmo¶rgw{dYm nwadR>m, n¶©dojU, nmcH$Ëd, {eñVnmbZ
10) nm¶m ŷV gw{dYm {dH$mg

(3) ^maVr¶ gm‘m{OH$ g‘ñ¶m d Cnm¶¶moOZm
* ^maVmVrb  ‘hÎdmÀ¶m gm‘m{OH$ g‘ñ¶m -

1) e¡j{UH$ g‘ñ¶m - {ZajaVm
2) Amamo½¶{df¶H$ g‘ñ¶m - ŷH$~ir d Hw$nmofU
3) gm‘m{OH$ g‘ñ¶m - OmVrdmX d OmVr¶dmX, A§YlÕm, ì¶gZmYrZVm
4) bmoH$g§»¶m{df¶H$ g‘ñ¶m
5) Am{W©H$ g‘ñ¶m -~oamoOJmar
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6) amOH$s¶ g‘ñ¶m - «̂ï>mMma, {h§gmMma

* d§{MVm§À¶m ( {ó¶m, ‘wbo, ¶wdH$, d¶mod¥Õ, {Xì¶m§J, Hw$Qw>§~) g‘ñ¶m d gm‘m{OH$ H$m¶Xo -
7) ‘{hbm§À¶m g‘ñ¶m, gdmªJrU {dH$mg d gwa{jVVm, ‘{hcm gj‘rH$aU
8) ~mbH$m§À¶m g‘ñ¶m
9) ¶wdH$m§À¶m g‘ñ¶m
10) d¶mod¥Õ/Á¶oîR  ZmJ[aH$m§À¶m g‘ñ¶m
11) {Xì¶mJm§À¶m g‘ñ¶m
12) V¥Vr¶n§Wr¶m§À¶m g‘ñ¶m d Cnm¶
13) eoVH$ar, ŷ{‘hrZ eoV‘Oya, ñWcm§V[aV eoV‘Oya ({deofV: D$gVmoS> H$m‘Jma) ¶§mÀ¶m g‘ñ¶m d Cnm¶
14) Ag§K{Q>V H$m‘Jmam§À¶m g‘ñ¶m d Cnm¶
15) ‘mJmgdJu¶m§À¶m g‘ñ¶m d Cnm¶
16) nm¶m ŷV gw{dYm -eharH$aU d ~H$mc dñË¶m, g’$mB© H$m‘Jmam§À¶m g‘ñ¶m d Cnm¶
17) {dH$mg-n¶m©daU hmZr d  nwZd©gZmMr g‘ñ¶m

(4) g~brH$aU d gm‘m{OH$ gwajm g§X^m©Vrb H$m¶Xo
* Xþ~©c KQ>H$m§gmR>r gm‘m{OH$ gwa{jVVm H$m¶Xo -

1) ñ§{dYmZmË‘H$ VaVwXr
2) ‘{hcm gwajm H$m¶Xo
3) ~mbmµH$ - gm‘m{OH$ gwajm H$m¶Xo (nrgrAma, nrAmoE, ~mbH$m‘Jma)
4) Á òð> ZmJ[aH$-  AmB©, dS>rc d Á¶oð> ZmJ[aH$m§À¶m M[aVmW© d H$ë¶mUmgmR>r A{Y{Z¶‘ - 2007/2010
5) AZwgy{MV OmVr d AZwgy{MV O‘mVr,
6) {Xì¶m§J ì¶³Vr
7) H$m‘Jma H$m¶Xo
8) BVa ‘hÎdmMo gm‘m{OH$ H$m¶Xo

* ZmJ[aH$mgmR>r ‘hÎdmMo emgH$s¶ H$m¶Xo -
9) «̂ï>mMma à{V~§Y A{Y{Z¶‘ 1988
10) J«mhH$ g§ajU A{Y{Z¶‘ 2019
11) ‘hÎdmMo emgH$s¶ H$m¶Xo, XheVdmX à{V~§YH$ H$m¶Xo
12) ‘m{hVr V§ÌkmZ A{Y{Z¶‘, 2000
13) ‘m{hVrMm A{YH$ma A{Y{Z¶‘, 2005
15) ‘mZdr h¸$m§Mo g§ajU A{Y{Z¶‘, 1993

(5) J««m‘rU g‘mO OrdZ
1) J««m‘rU g‘mO OrdZ, ~cwVoXmar nÕV, OmVr ì¶dñWm d OmVr ì¶dñWoMm g‘mOmda hmoUmam n[aUm‘.
2) O‘rZ YmaUm ‘Yrc Ag‘mZVm, {d{dY nÕVr - O‘rZXmar, a¶Vdmar, ‘hmcdmar, ImoVr nÕV
3) ñdV§Ì ^maVmVrc O‘rZ ‘mcH$s gwYmaUm CnH«$‘, ŷXmZ Midi d J«m‘XmZ Midi g‘mO gwYmaH$m§Mo H$m¶©
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(6) H$ë¶mUH$mar amÁ¶

1) H$ë¶mU, {dH$mg, g~brH$aU
2) emídV {dH$mg - E‘S>rOr, EgS>rOr
3) ‘Zwî¶~i {dH$mg
4) gd©g‘mdoeH$Vm

5) àmXo{eH$ Ag‘Vm

(7) ‘mZdr h¸${df¶H$ ~m~r
1) g§H$ënZm - Am§Vaamï´>r` _mZdr h¸$ _mZH$
2) _mZdr h¸$ g§X^m©Vrc ^maVr` amÁ`KQ>ZoVrc VaVyX
3) ^maVmVrc _mZdr h¸$ d O~m~Xmè`m §̀ÌUoMr A§_c~OmdUr d g§ajU, ^maVmVrc _mZdr h¸$ Midi,
4) ‘mZdr A{YH$mam§Mm OmJ{VH$ OmhraZm‘m, 1948
5) ‘mZdr A{YH$mam§Mm OmJ{VH$ OmhraZm‘m, 1966
6) _mZdr h¸$mnmgyZ d§{MV amhÊ`mÀ`m g_ñ`m, Jar~r, {ZajaVm, ~oH$mar, gm_m{OH$ - gm§ñH¥${VH$ - Ym{_©H$ àWm

`mgma»`m AS>MUr, ([h§gmMma, «̂ï>mMma, XheVdmX, H$m_Jmam§Mo emofU, g§a{jV JwÝhoJmar, BË`mXr.)
7) amï´>r¶ ‘mZd A{YH$ma Am¶moJ  , amÁ¶ ‘mZd A{YH$ma Am¶moJ
8) amï´>r¶ ‘mJmgdJu¶ Am¶moJ
9) amï´>r¶ AZwgy{MV OmVr Am¶moJ
10) amÁ¶ AZwgy{MV OmVr d AZwgy{MV O‘mVr Am¶moJ
11) amï´>r¶ AZwgy{MV O‘mVr Am¶moJ
12) amï´>r¶ ‘{hcm Am¶moJ , amÁ¶ ‘{hcm Am¶moJ
13) amï´>r¶ Aëng§»¶m§H$ Am¶moJ
14) ‘m{hVr Am¶moJ
15) amÁ¶ ‘mJmgdJ© Am¶moJ

(8) g‘mOH$m¶m©À¶m g§~§{YV g‘mOemó, AW©emó
1) g‘mOH$m¶m©À¶m g§~§{YV g‘mOemó
2) g‘mOH$m¶m©À¶m g§~§{YV ‘mZgemó / {ejUemó
3) g‘mOH$m¶m©À¶m g§~§{YV AW©emó

(9) _mZdr A{^d¥Õr d ì¶{º$‘Îd {dH$mg -  ì`{º$‘Îd d gm‘mOrH$aU
1) {Zdmgr g§ñWmVrb {dÚmÏ¶m©§Mm ì`{º$‘Îd {dH$mg-

‘mZ{gH$, ~m¡{ÕH$, ì`{º$‘Îd d H$m¡eë¶ {dH$mgmVrb ŷ{‘H$m, ZdrZ CnH«$‘
2) {Xì¶m§J ì¶º$s¨Mm ì`{º$‘Îd {dH$mg
3) _mZdr A{^d¥Õr d ‘mZd g§gmYZ {dH$mg
4) ì¶{º$‘Ëd {dH$mg -ì¶{º$‘Ëd d gm‘mOrH$aU
5) {ejU d _mZdr A{^d¥Õr
6) Amamo½¶ d _mZdr A{^d¥Õr
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(10) ‘yc ŷV g§emoYZ kmZ
1) g§emoYZmMo  àH$ma, g§emoYZmMr à{H«$¶m
2) g§emoYZ AmamIS>m
3) g§emoYZ A{^`mo½`Vm
4) dmMZ AmH$bZ
5) AmYmagm_J«r AW©CH$b
6) AÜ`mnZ A{^`mo½`Vm
7) Cƒ {ejU nÕVr
8) ì¶mdgm{¶H$ {ejU H$m¡eë¶ {dH$mg

gm‘mÝ¶ AÜ¶¶Z

(11) AmYw{ZH$ ^maVmMm {deofV: ‘hmamḯ>mMm B{Vhmg

1) ẁamo{n`Z Am{U A±½bmo - {~«{Q>e ẁÕo
2) {~«{Q>e àemgZ - JìhZ©a OZaëg Am{U ìhmB©gam°̀ m§Mr ŷ{‘H$m
3) {~«{Q>e amOdQ>rVrb KQ>ZmË‘H$ gwYmaUm, H$m`Xo, Am¶moJ d g{‘Ë¶m
4) gm‘m{OH$ Ym{‘©H$ gwYmaUm
5) {ejU Am{U àog
6) {~«{Q>e amOdQ>rMm Am{W©H$ n[aUm‘
7) amï´>dmX Am{U amOH$s` g§KQ>Zm§Mm CX`
8) H«$m§{VH$maH$ g§KQ>Zm d amï´>dmX
9) H$m±J«og nj - g§ñWmnH$, A{YdoeZo, R>amd
10) ñdmV§Í¶ Midi - H$m±J«og, ñdXoer, Agh`moJ, g{dZ` H$m`Xô §J, ^maV N>moS>mo
11) eoVH$ar Am§XmobZ Am{U H¥$fr gwYmaUm
12) H$m‘Jma Midir Am{U H$m‘Jma g§KQ>Zm
13) ‘wpñb‘ brJ Am{U ’$miUr
14) ñdmV§Í¶ Am{U g§~§{YV g‘ñ`m
15) g§̀ wº$ ‘hmamï´> Midi d ñdmV§Í¶moÎma ^maV

(12) ^maVmMm {deofV: ‘hmamḯ>mMm ŷJmoc
1) ^m¡{VH$ ŷJmob - nd©V, nR>ma, dmid§Q>, {H$ZmanÅ>r, ~oQ>o
2) dZo Am{U dZñnVr, n[apñW{VH$s, n`m©daU
3)  ‘hmamï´>mVrb O{‘ZrMo àH$ma
4) à‘wI {nHo$ - eoVr
5) ehao Am{U ZmJarH$aU
6) Am{W©H$ ŷJmob - I{ZOo Am{U D$Om© g§gmYZo, dmhVyH$ Am{U n ©̀Q>Z
7) CÚmoJ
8) amOH$s` ŷJmob - bmoH$g§»`m, ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m
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(13) hdm‘mZ ~Xc, H$maUo n[aUm‘ d Cnm¶, AmnÎmrMo n[aUm‘ d ì¶dñWmnZ

27) hdm‘mZ ~Xc, H$maUo n[aUm‘ d Cnm¶
28) Z¡g{J©H$ d ‘mZd{Z{‘©V AmnÎmrMo n[aUm‘ d ì¶dñWmnZ

(14) ^maVr¶ amÁ¶ì¶dñWm, H$ë¶mUH$mar amÁ¶
29) ^maVr¶ amÁ¶KQ>Zm ({deofV: amÁ¶KQ>ZoMr àmñVm{dH$m)
30) ‘yc ŷV h¸$, ‘mJ©Xe©H$ VÎdo d ‘yc ŷV H$V©ì¶o)
31) amÁ¶KQ>ZoMm B{Vhmg
32) cmoH$emhrMr g§§H$ënZm, àH$ma d ^maVmVrc cmoH$emhr
33) amÁ¶ àemgZ d ñWm{ZH$ àemgZ (J«m‘rU VgoM ehar) ¶m§Mr aMZm, A{YH$ma d H$m¶©o
34) n§Mm¶VamO, gÎmoMo {dH|$ÐrH$aU, 73 dr d 74 dr KQ>ZmXþéñVr, nogm H$m¶Xm, dZ h¸$ A{Y{Z¶‘ 2006
35) ‘m. gdm}ƒ Ý¶m¶mc¶mMo Ý¶m¶ {ZU©¶ (B§Ðm ghmZr {déÕ H|$Ð emgZ, ‘mYwar nmQ>rc {déÕ Ana Am¶wº$ Am{Xdmgr

{dH$mg

(15) AW©ì¶dñWm
45) ZrVr Am¶moJ d amï´>r¶ {dH$mg n[afX
46) n§Mdm{f©H$ ¶moOZm§Mm B{Vhmg
47) gyú‘ {Z¶moOZ
48) ~oamoOJmar, H$m¡eë¶ {dH$mg d ñd¶§amoOJma
49) ^maVr¶ AW©ì¶dñWm, Am{W©H$ {dH$mg d {Z¶moOZ

(16) {dkmZ
50) gm‘mÝ¶ {dkmZ
51) Amamo½¶ d nmofH$ Amhma (hoëW A±S> Ý ỳ{Q´eZ), CnMmaemñÌr¶ AÞ
52) n¶m©daU nyaH$ Kao
53)  ‘yc ŷV g§JUH$ V§ÌkmZ, g§n«ofU, _m{hVr d g§kmnZ V§ÌkmZ

(17) amḯ>r¶ d Am§Vaamḯ>r¶ Mmcy KS>m‘moS>r
1) OmJ{VH$ amOH$s¶ KQ>Zm  -

Am§Vaamï´>r¶ g§~§Y, {eIa n[afXm, {ZdS>UwH$m, g§ajU{df¶H$ KQ>Zm, ‘mZdr h¸$ g‘ñ`m, Am§Vaamï´>r` g§KQ>Zm - UN,
ASEAN, BRICS, European Union, G20, OPEC, SCO, SAARC, NAM

2) amîQ´>r¶$ amOH$s¶ KQ>Zm -
amOH$s` nj, {ZdS>UwH$m, àemgZ, Ý¶m¶mb¶rZ {ZH$mb, Am¶moJ, H$m¶Xo d KQ>ZmXþéñË¶m, Am§XmobZo, amï´>r` / ‘hmamï´>
ñVamdarb g§KQ>ZmË‘H$ d g§ñWmË‘H$ ~m~r

3) OmJ{VH$ Am{W©H$ d {dÎmr¶ KQ>Zm  -
OmJ{VH$ ñVamdarb Am{W©H$ KS>m‘moS>r, {dXoer ì¶mnma, OmJ{VH$ ~±H$,  IMF, WTO

4) amîQ´>r¶$Am{W©H$ d {dÎmr¶ KQ>Zm  -
amï´>r` CËnÞ, {dH$mg H$m ©̀H«$‘, AW©g§H$ën d gmd©O{ZH$ {dÎm, ~±qH$J,  H¥$fr d J«m‘rU {dH$mg, Xm[aX²Œ¶ d ~oH$mar, CÚmoJ
Am{U nm¶m ŷV joÌmVrb KQ>Zm

5) V§Ìd¡km{ZH$ KQ>Zm  -
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D$Om© V§ÌkmZ d AmpÊdH$ àH$ën, Am¶grQ>r, AdH$me{dkmZ
6) d¡km{ZH$ KQ>Zm -

d¡km{ZH$ g§ñWm d g§emoYH , O¡dV§ÌkmZ, amoJ{dkmZ $
7) gm‘m{OH$  d e¡j{UH$ KQ>Zm -

gm‘m{OH$ gwajoMo CnH«$‘ d nwT>mH$ma, gd©g‘mdoeH$Vm, d§{MV O‘mVr Am{U g‘wXm`
8) e¡j{UH$,  H$m¡eë¶ {dH$mg d Amamo½¶ joÌmVrb KQ>Zm  -

e¡j{UH$ d Amamo½¶ joÌmVrb KQ>Zm, amoOJma {Z{‘©Vr d H$m¡eë¶ {dH$mg
9) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm -

àH$mePmoVmVrb ñWio, gr‘m Am{U g§Kf©, amOYmZr Am{U ‘hÎdmMr ehao, YaUo Am{U àH$ën, amOH$s¶ ŷJmob,
n¶m©daU n[afXm, g§dY©Z, H$m¶Xo, AmnÎmr ì¶dñWmnZ

10) gm§ñH¥${VH$ d n¶©Q>Z KQ>Zm  -
g§JrV d Z¥Ë¶, {MÌnQ> Am{U CËgd, ¶mÌm, g§ñWm d ñ‘maHo$

11) gm{hpË¶H$ KQ>Zm -
àH$mePmoVmVrb nwñVHo$ d boIH$, _amR>r gm{hË` g§_ocZ d BVa CnH«$‘

12) Zo‘UwH$m, {Z¶wº$s  d àH$mePmoVmVrb ì¶º$s -
Am§Vaamï´>r`/amï´>r`/‘hmamï´> - ZoVo, AÜ`j, n§VàYmZ, ‘wËgÔr

13) nm[aVmo{fH$, nwañH$ma  d ~hþ‘mZ -
Am§Vaamï´>r`/amï´>r`/‘hmamï´> - ZmJar nwañH$ma, em¡̀ ©, {MÌnQ>, gm{hË`

14) H«$sS>m{df¶H$  KQ>Zm -
H«$sS>m ñnYm©, IoimSy>§Mr H$m‘{Jar, àH$mePmoVmVrb IoimSy> d à{ejH$, Am°qb{nH$, Am{e`mB© Ioi, A°Wbo{Q>Šg, hm°H$s,
~°S>q‘Q>Z, ~w{Õ~i, {H«$Ho$Q>, ’w$Q>~m°b, Q>o{Zg

15) gm‘mÝ¶kmZ  -
‘hÎdmMo {Xdg d df©, gd©àW‘, gdm©V ‘moR>o/N>moQ>o, Eo{Vhm{gH$ KQ>ZmH«$‘

(18) ~w{Õ‘mnZ MmMUr
* ~w{Õ‘mnZ MmMUr - C‘oXdma {H$Vr bdH$a d AMyH$nUo {dMma H$é eH$Vmo ho AO‘mdÊ¶mgmR>r

A§H$J{UV - ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma,  Xem§e AnyUmªH$ d Q> o̧$dmar

~w{Õ‘mnZ MmMUr -
86) g§»¶m Am{U dU©‘m{bH$m
87) gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU
88) ‘erZ BZnwQ  Am{U {MÝho, J{UVr` VH©$, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
89) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
90) ~¡R>H$ d ‘m§S>Ur ì`dñWm
91) ZmVog§~§Y
92) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ

A§H$J{UV -
1) g§»¶m Am{U dU©‘m{bH$m
2) gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU
3) ‘erZ BZnwQ  Am{U {MÝho, J{UVr` VH©$, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
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4) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
5) ~¡R>H$ d ‘m§S>Ur ì`dñWm
6) ZmVog§~§Y
7) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ
8) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi
9) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$
10) Q> o̧$dmar, ^mJrXmar, gamgar, g§̂ mì`Vm
11) JwUmoÎma Am{U à‘mU, {‘lU, gmIir {Z`‘
12) doi Am{U A§Va,aoëdo, ~moQ> Am{U Obàdmh, H$mi Am{U H$m‘
13) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr, gmYo Am{U MH«$dmT> ì`mO
14) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
15) KS>çmi, H°$b|S>a, d`, {Xem{ZX}e, doZ AmH¥$Ë`m§darb àíZ



Am¶wº$/A{YH$mar g‘mOH$ë¶mU ImVo narjm / 12

For Private Circulation Only

(5) J««m‘rU g‘mO gwYmaUm CnH«$‘
1) J«m‘rU g‘mO
2) J«m‘rU amOH$maU
3) J«m‘rU AW©H$maU
4) J«m‘rU  nm¶m ŷV g§aMZm
5) J«m‘rU {dH$mg
6) H¥$fr {dH$mg
7) ‘hmamḯ> O‘rZ ‘hgyb g§{hVm 1966

1) J«m‘rU g‘mO

2) J«m‘rU amOH$maU - ŷ‘r gwYma
1) n§Mm¶V {dñVma AZwgy{MV joÌ (PESA) A{Y{Z¶‘ Ho$ìhm ApñVËdmV Amcm. Ë¶m A§VJ©V {H$Vr amÁ¶m§Mm g‘mdoe hmoVm?

1) 24 {S>g|~a 1996, EHy$U 10 amÁ¶m§Mm g‘mdoe 2) 24 {S>g|~a 1999, EHy$U 12 amÁ¶m§Mm g‘mdoe
3) 30 {S>g|~a 1997, EHy$U 14 amÁ¶m§Mm g‘mdoe 4) 30 OmZodmar 1996, EHy$U 8 amÁ¶m§Mm g‘mdoe

1) The Panchayats Extension to the Scheduled Areas Act (PESA) when did it come into force and

how many states were included under it ?

1) 24th December 1996, Total 10 States were included

2) 24th December 1999, Total 12 States were included

3) 30th December 1997, Total 14 States were included

4) 30th January 1996, Total 8 States were included

2) ~bd§Vam¶ ‘ohVm g{‘VrZo {Ì-gyÌr nÕVr‘Ü¶o Á¶m {e’$maer ‘m§S>ë¶m Ë¶m§Zm ''n§Mm¶V amO'' Ago H$moUr g§~mo{Ybo?
1) ‘hmË‘m Jm§Yr 2) S>m°. amO|Ð àgmX 3) n§{S>V Odmhabmb Zohê$ 4) ~bd§Vam¶ ‘ohVm

2) The recommendation of Balwantray Mehta Committee in three tire system was named as

“Panchayat Raj” by :

1) Mahatma Gandhi 2) Dr. Rajendra Prasad

3) Pandit Jawaharlal Nehru 4) Balwantray Mehta

3) J«m‘n§Mm¶VtZm ñd‘mbH$sMr ñdV§Ì B‘maV Agmdr ¶mH$[aVm ‘hmamï´> emgZmZo Imbrbn¡H$s H$moUVr ¶moOZm gwê$ Ho$br?
a) Amnbo gaH$ma godm H|$Ð b) Am‘Mm Jmd - Am‘Mm {dH$mg
c) ñd. JmonrZmW ‘w§T>o ¶moOZm d) ~mimgmho~ R>mH$ao ñ‘¥Vr ‘mVmolr ¶moOZm
darbn¡H$s H$moUVm n¶m©¶ ~amo~a Amho?
1) (b) 2) (d) 3) (c) 4) (a)

3) Which of the following schemes was initiated by the government of Maharashtra to provide to

the Gram Panchayats an independent building of their own ?

a) Apple Sarkar Seva Kendra b) Aamcha Gaon - Aamcha Vikas

c) Late Gopinath Mundhe Yojana d) Balasaheb Thackeray Smriti Matoshree Yojana

Which of the option(s) given above is correct?

1) (b) 2) (d) 3) (c) 4) (a)
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4) Imcrcn¡H$s ‘hmamï´>mV Á¶m J«m‘ n§Mm¶VtZm ñdV§Ì H$m¶m©c¶rZ B‘maV Zmhr Aem J«m‘ n§Mm¶VrgmR>r 2018 ‘Ü¶o H$moUVr
¶moOZm gwé H$aÊ¶mV Amcr Amho ?
a)$S>m°. E. nr. Oo. AãXþc H$cm‘ J«m‘ n§Mm¶V ~m§YUr ¶moOZm.
b)$ñd. JmonrZmW  ‘w§S>o ñ‘¥Vr J«m‘ n§Mm¶V ¶moOZm
c)$~mimgmho~ R>mH$ao ñ‘¥Vr ‘mVmolr J«m‘ n§Mm¶V ~m§YUr ¶moOZm
d)$ ñd. Ama. Ama. nmQ>rc J«m‘ n§Mm¶V ¶moOZm
n¶m©¶r CÎmao :
1) ’$º$ (d)$ 2) ’$º$ (b)$ 3) ’$º$ (c)$ 4) darcn¡H$s gd©

4) Which of the. following schemes was started in 2018 for Gram Panchayats in Maharashtra which

do not have separate office building ?

(a). Dr. A.P.J. Abdul Kalam Gram Panchayat Bandhani Yojana

(b)  Late Gopinath Munde Smriti Gram Panchayat Yojana

(c)  Balasaheb Thackeray Smriti Matoshri Gram Panchayat Bandhani Yojana

(d)  Late R.R. Patil Gram Panchayat Yojana

Answer Options :

l)  Only (d) 2)  Only (b) 3)  Only (c) 4)  All of the above

5) {dZmo~m ^mdo ¶m§Mr ŷXmZ Midi ...... ¶m IoS>çmnmgyZ gwê$ Pmbr.
1) ~Xbmnya - ‘hmamï´> 2) XmdU{Jar - H$Zm©Q>H$ 3) Xa §̂Jm - {~hma 4) nmoM‘n„r - Vob§JUm

5) The Bhoodan Movement of Vinoba Bhave started from the village

1) Badlapur - Maharashtra 2) Davangiri - Karnataka

3) Darbhanga - Bihar 4) Pochampally - Telangana

6) O‘rZ gwYmaUm d {dH$mg H$m¶©H«$‘mV A§V^m©d hmoVmo:
a) H$‘mc ŷ-YmaUoda ‘¶m©Xm b) eoVrÀ¶m CËnmXZ V§ÌmV V§ÌkmZmË‘H$ ~Xc
c) dZm§Mo g§dY©Z d {dH$mg d) nS>rH$ O{‘ZtMo ŷ{‘hrZ eoVH$è¶m§‘Ü¶o nwZ{d©VaU
n¶m©¶r CÎmao :>
1) (a) Am{U (c) 2) (c) Am{U (b) 3) (a),(b) Am{U (d) 4) (c) Am{U (d)

6) Programme for the Land Reforms and Development includes :

a) Ceiling on land teanancy

b) Technological changes in agricultural production techniques.

c) Forestry and development

d) Redistribution of infertile land for landless farmer.

Answer Options :

1) (a) and (c) 2) (c) and (b) 3) (a), (b) and (d) 4) (c) and (d)

7) ‘hmamï´> emgZ Am{Xdmgr joÌmVrc J«m‘n§Mm¶VtZm {dH$mgmH$[aVm H$moUË¶m ¶moOZoA§VJ©V nmM Q> o̧$ {ZYr CncãY H$éZ
XoVo ?
a) nogm ¶moOZm b) e~ar ¶moOZm
c) emco¶ Amamo½¶ ì¶dñWmnZ ¶moOZm d) R>¸$a ~mßnm ¶moOZm
darcn¡H$s H$moUVm n¶m©¶ MwH$sMm Amho/AmhoV ?
1) Ho$di (a) 2) (a) ’$º$ (c) 3) (b), (c) Am{U (d) 4) darcn¡H$s gd©
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7) Under which scheme does the Maharashtra Government provide 5% funds for the development

of Grampanchayats in tribal areas?

a) Pesa Yojana b) Shabri Yojana

c) School Health Managment Yojana d) Thakkar Bappa Yojana

Which of the option(s) given above is/are incorrect?

1) Only (a) 2) (a) and (c) 3) (b), (c) and (d) 4) All of the above

8) J«m‘n§Mm¶VrÀ¶m H$m¶©g§~§Yr H$moUVr/H$moUVr {dYmZ/Zo ~amo~a Zmhr?
a) CnbãY {dH$mg {ZYr dmnamMm àmYmÝ¶H«$‘ R>aUo.
b) H$ë¶mUH$mar ¶moOZm§Mo bm^mWu R>adUo.
c) JmdmVrb ^m§S>U-V§Q>o Ý¶m¶mb¶rZ ‘mJm©Zo gmoS>dUo.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (c) 3) (b) Am{U (c) 4) EH$hr Zmhr

8) Which statement/s is/are not correct regarding the functions of Grampanchayat?

a) Prioritize the use of available development funds.

b) To determine the beneficiaries of welfare schemes.

c) Resolve the dispute in the village by Judicial way.

Answer Options :

1) Only (a) 2) Only (c) 3) (b) and (c) 4) Neither

9) Imcrc {dYmZo {dMmamV ¿¶m :

A. ‘wcV: amÁ¶KQ>ZoÀ¶m AZwÀN>oX 243 (b) Zwgma J«m‘g ôMr ì¶m»¶m H$aÊ¶mV Amcr Amho.
~. J«m‘g^m hr H$m¶‘ñdénr g§ñWm AgyZ {VMo gXñ¶ ho {Zdm©{MV ZgVmV.
H$. Oar Ë¶m§Mr Zmdo ‘VXma ¶mXrV Zm|Xdcocr Zgcr Var J«m‘g^m hr ‘w»¶V: 18 df©o d¶mdarc gd© ì¶{º$Mr {‘iyZ

~Zcocr AgVo.
S>. J«m‘g^m hr Jmd nmVirda H$m¶©aV Agcocr d¡Ym{ZH$ (legislative) g§ñWm Amho.
darcn¡H$s H$moUVr {dYmZo gË¶ AmhoV ?
1) A, ~ Am{U H$ 2) A, ~ Am{U S> 3) ~, H$ Am{U S> 4) darc gd©

9) Consider the following statements :

A. Gram Sabha is originally defined under Article 243 (b) of the Constitution.

B. Gram Sabha is a permanent body and its members are not elected.

C. Gram Sabha is mainly constituted by all the people who are more than 18 years of age even

though their names may not be enrolled in the voter list.

D. Gram Sabha is the legislative body operating at the village level.

Which of the above statements are true ?

1) A, B and C 2) A, B and D 3) B, C and D 4) All of the above

10) Imcrcn¡H$s H$moUVo n§Mm¶Vr (AZwgy{MV joÌm§Zm cmJy H$aUo) H$m¶ÚmMo (PESA) C{Ôï> Zmhr ?
1) ñd-emgZ àXmZ H$aUo 2) nma§nm[aH$ h¸$ OmonmgUo
3) Am{Xdmgr joÌm‘Ü¶o ñdm¶Îm {d^mJ {Z‘m©U H$aUo 4) J«m‘g^m ho gd© H$m‘H$mOmMo H|$Ð ~Z{dUo.
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10) Which one of the following is not identified as objective of the Panchayat Extension to Scheduled

Area (PESA) Act ?

1) To provide self-governance

2) To preserve traditional rights

3) To create autonomous regions in tribal areas

4) To make gram sabha a nucleus of all activities

11) ‘hmamîQ´>mVrc {Oëhm n[afXoÀ¶m "Oc ì¶dñWmnZ d ñdÀN>Vm g{‘Vr" ~m~V Imcrc {dYmZo {dMmamV ¿¶m.
A. g{‘Vrg Amncr H$m¶©o Am{U H$V©ì¶o nma nmS>VmZm ghmæ¶ qH$dm g„m XoÊ¶mgmR>r {OëømVrc ghmæ¶ H$aUmè¶m

g§KQ>Zm§À¶m {H$Vrhr à{V{ZYtZm {deof {Z‘§{ÌV H$aVm ¶oB©c.
~. {df¶ g{‘Vrcm Zo‘yZ XoÊ¶mV Amcoë¶m {df¶m§À¶m g§~§YmV {df¶ g{‘Vrcm Oo gd© A{YH$ma AgVrc Am{U Á¶m

A{YH$mam§Mm Vr dmna H$arV Agoc Vo gd© A{YH$ma Oc ì¶dñWmnZ d ñdÀN>Vm g{‘Vrcm Oc-g§YmaU, OVZ,
dmna, {nÊ¶mÀ¶m nmÊ¶mMm nwadR>m d ñdÀN>Vm ¶m g§~§YmV AgVrc Am{U Vr Ë¶m§Mm dmna H$arc.

n¶m©¶r CÎmao :
1) {dYmZ A ~amo~a 2) {dYmZ ~ ~amo~a 3) XmoÝhrhr {dYmZo ~amo~a 4)  XmoÝhrhr {dYmZo MyH$sMr

11) Consider the following statements regarding the ‘Water Management and Sanitation Committee’

of Zilla Parishad in Maharashtra.

A. The Committee may invite several representative of support organisations in the district as

special invitees for the purpose of assisting or advising the committee in discharge of its

duties and functions.

B. The Committee shall have and exercise, in relation to the subject of water conservation,

preservation, utilisation, drinking water supply and sanitation, all the powers which the subjects

committee has and exercises in relation to the subjects allocated to it.

Answer options :

1) Statement ‘A’ is correct 2) Statement ‘B’ is correct

3) Both the statements are correct 4) Both the statements are false

12) n§Mm¶V amO ì¶dñWoMo ‘yb ŷV C{Ôï> Imbrbn¡H$s H$moUVo gw{ZpíMV H$aUo Amho?
a) {dH$mgm‘Ü¶o bmoH$gh^mJ b) amOH$s¶ O~m~Xmar
c) bmoH$emhr {dH|$ÐrH$aU d) Am{W©H$ O‘dmO‘d
Imbr {Xboë¶m n¶m©¶m‘YyZ ¶mo½¶ Vo CÎma {ZdS>m.
1) (a), (b) Am{U (c) 2) (a) Am{U (c) 3) (b) Am{U (d) 4) darb gd©

12) The fundamental object of Panchayat Raj system is to ensure which among the following ?

a) Peoples participation in development b) Political accountability

c) Democratic decentralization d) Financial mobilization

Select the correct answer using the code given below :

1) (a), (b) and (c) 2) (a) and (c) 3) (b) and (d) 4) All above
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13) Imbrb {dYmZo {dMmamV ¿¶m …
a) J«m‘g ôÀ¶m ‘{hbm gXñ¶m§Mr g^m àË¶oH$ {Z¶{‘V J«m‘g ôÀ¶m g ônydu KoÊ¶mV ¶oB©b.
b) Jmdm‘Ü¶o H$m‘ H$arV Agboë¶m emgH$s¶, {Z‘emgH$s¶ H$‘©Mmè¶m§da J«m‘g ôMo {eñV{df¶H$ {Z¶§ÌU ZgVo.
c) J«m‘g ôZo (qH$dm `WmpñWVr, n§Mm¶VrZo) gyQ> {Xbobr Zgob, Va Jmdmda H$m‘ H$aUmao gd© emgH$s¶, {Z‘emgH$s¶

H$‘©Mmar J«m‘g ôÀ¶m g^m§Zm hOa amhVrb.
darbn¡H$s H$moUVr {dYmZ/Zo ~amo~a Amho/V?
1) Ho$di (a) 2) (b) Am{U (c) 3) (a) Am{U (c) 4) darb gd©

13) Consider the following statements :

a) The meeting of the women members of the Gram Sabha shall be held before every regular

meeting of the Gram Sabha.

b) The Gram Sabha have no disciplinary control over the Government, Semi-Government

employees working in the village.

c) Unless exempted by the Gram Sabha (or as the case may be, the Panchayat) all Government,

Semi-Government employees working in the village shall attend the meetings of the Gram

Sabha.

Which of the statements given above is/are correct ?

1) (a) only 2) (b) and (c) 3) (a) and (c) 4) All above

14) n§Mm¶V g{‘Vr ñVamdarb 'gan§Mm§Mr g{‘Vr' ¶m~Ôb Imbrb {dYmZo {dMmamV ¿¶m …
a) ¶m g{‘VrV n§Yam gan§M qH$dm JQ>mVrb n§Mm¶VtÀ¶m EHy$U g§»¶oÀ¶m EH$-n§M‘m§e-¶mn¡H$s Or g§»¶m A{YH$ hmoB©b

VodT>çm g§»¶oVrb gan§Mm§Mm g‘mdoe AgVmo.
b) g{‘Vr, Amdí¶H$ Agob {VV³¶m doim Amnbr g^m ̂ adrb, na§Vw {VMr ‘mJrb g^m d nwT>rb g ôMm {Xdg ¶m‘Ü¶o

VrZ ‘{hÝ¶m§Mm AdYr OmUma Zmhr.
c) g{‘Vr‘Ü¶o H$moUVrhr OmJm [aH$m‘r Pmë¶mg Ë¶m‘Yrb gXñ¶m§Zm, OUy H$mhr H$moUVrhr OmJm [aH$m‘r Pmbobr Zgmdr

Ë¶mà‘mUo H$m‘ H$aVm ¶oB©b.
d) ¶m g{‘VmMm nX{gÕ AÜ¶j hm n§Mm¶V g{‘VrMm g^mnVr AgVmo.
darbn¡H$s H$moUVo {dYmZ/Zo ¶mo½¶ Amho/V?
1) Ho$di (a) 2) (a), (b) Am{U (c) 3) (b), (c) Am{U (d) 4) (a) Am{U (c)

14) Consider the following statements regarding ‘Committee of Sarpanchas’ at Panchayat Samiti level:

a) It consists of either fifteen Sarpanchas or of Sarpanchas of one-fifth of the total number of

Panchayats in the block, whichever is more.

b) The Committee meet as often as may be necessary, but three months shall not intervene between

its last meeting.

c) During any vacancy in the Committee, the continuing members may act as if no vacancy had

occurred.

d) The Chairman of Panchayat Samiti is the ex-officio Chairperson of this Committee.

Which of the statements given above is/are correct ?

1) Only (a) 2) (a), (b) and (c) 3) (b), (c) and (d) 4) (a) and (c)

15) Eg. Eg. Ioam ¶m§Zr 'VbmR>r' ¶m nXmMo dU©Z H$emàH$mao Ho$bo Amho?
1) {OëømVrb ‘hgyb àemgZmMm H|$Ðq~Xÿ AgVmo. 2) Vmbw³¶mVrb ‘hgyb àemgZmMm H|$Ðq~Xÿ AgVmo.
3) JmdmVrb ‘hgyb àemgZmMm H|$Ðq~Xÿ AgVmo. 4) (1) Am{U (3) XmoÝhr
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15)  Khera describes about the post ‘Talathi’ as

1) Kingpin of Revenue Administration in District

2) Kingpin of Revenue Administration in Taluka

3) Kingpin of Revenue Administration in Village

4) (1) and (3) Both

16) nwT>rb {dYmZmn¡H$s H$moUVr ~amo~a AmhoV?
a) VbmR>r hm J«m‘ boImnmb AgVmo d JmdmVrb ‘hgyb ImVr Am{U O{‘ZrÀ¶m Zm|Xr R>odÊ¶mMm à^ma Ë¶mMoH$S>o AgVmo.
b) ‘§S>i {ZarjH$mH$S>o ‘hgyb àemgZ Am{U àË¶oH$ JmdmÀ¶m O{‘ZrÀ¶m Zm|Xrda XoIaoI R>odÊ¶mMr O~m~Xmar AgVo.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b)

3) XmoÝhr (a) d (b) ~amo~a AmhoV 4) H$moUVohr ~amo~a Zmhr
16) Which of the following statements are correct ?

a) Talathi is village accountant in charge of maintaining village revenue accounts and land records.

b) Circle Inspector is incharge of supervisions over revenue administration and land records of

every village.

Answer Options :

1) (a) only 2) (b) only

3) Both (a) and (b) are correct 4) None is correct

17) ‘hmamï´>mVrb {Oëhm n[afXo~m~V Imbrb {dYmZo {dMmamV ¿¶m …
a) {Oëhm n[afXoÀ¶m AÜ¶jmg dfm©VyZ Vrg {Xdgmnojm A{YH$ Zgob BV³¶m H$mbmdYrgmR>r nadmZJr{edm¶ J¡ahOa
amhVm ¶oB©b.
b) {Oëhm n[afXoÀ¶m AÜ¶jmg Vrg {Xdgmnojm A{YH$ H$mbmdYrMr AZwnpñWVr aOm amÁ¶m emgZ ‘§Oya H$aVo.
c) {Oëhm n[afXoÀ¶m AÜ¶jmg, {Oëhm{YH$mè¶mÀ¶m Zdo ñdV…À¶m ghr{Zer {bhÿZ Amnë¶m nXmMm amOrZm‘m XoVm ¶oB©b.
d) {Oëhm n[afXoÀ¶m CnmÜ¶jmg AÜ¶jmÀ¶m Zmdo ñdV…À¶m ghr{Zer {bhÿZ Amnë¶m nXmMm amOrZm‘m XoVm ¶oB©b.
darbn¡H$s H$moUVo {dYmZ/Zo ¶mo½¶ Amho/V?
1) (a), (b) Am{U (c) 2) (a) Am{U (d) 3) (b), (c) Am{U (d) 4) ’$º$ (d)

17) Consider the following statements regarding Zilla Parishad in Maharashtza :

a) The President of Z.P. may remain absent for a period not exceeding thirty days in a year without

permission.

b) The President of Z.P. shall be granted leave of absence for a period exceeding thirty days by the

state government.

c) The President of Z.P. may resign his office by writing under his hand addressed to the Collector.

d) The Vice President of Z.P. may resign his office by writing under his hand addressed to the

President.

Which of the statements given above is/are correct ?

1) (a), (b) and (c) 2) (a) and (d) 3) (b), (c) and (d) 4) Only (d)
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18) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
a) n§Mm¶V amO ì¶dñWo‘wio J«m‘rU bmoH$m§Zm ñdV…Mm {dH$mg KS>dyZ AmUÊ¶mMr g§Yr {‘imbr.
b) J«m‘rU ZoV¥ËdmMm CX¶ d {dH$mg hmoÊ¶mg MmbZm {‘imbr.
c) amÁ¶KQ>ZoVrb H$b‘ 45 AÝd¶o J«m‘n§Mm¶Vr ñWmnZ H$ê$Z Ë¶m§Zm ñdamÁ¶mMo KQ>H$ åhUyZ H$m¶© H$aÊ¶mMo A{YH$ma

{XboV.
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (a), (b) Am{U (c) 3) (a) 4) gd© n¶m©¶ ~amo~a AmhoV

18) Which of the following statement is true?

a)The Panchayat Raj System provided an opportunity for the rural people to develop themselves.

b)The rise and development of rural leadership was accelerated.

c)Article 45 of the Constitution established Gram Panchayats and gave them the right to function

as a component of Swarajya.

Answer Options :

1) (a) and (b) 2) (a), (b) and (c) 3) (a)                             4) All options are correct

19) J«m‘n§Mm¶VrÀ¶m H$m¶©g§~§Yr H$moUVr/H$moUVr {dYmZ/Zo ~amo~a Zmhr?
a) CnbãY {dH$mg {ZYr dmnamMm àmYmÝ¶H«$‘ R>aUo.
b) H$ë¶mUH$mar ¶moOZm§Mo bm^mWu R>adUo.
c) JmdmVrb ^m§S>U-V§Q>o Ý¶m¶mb¶rZ ‘mJm©Zo gmoS>dUo.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (c) 3) (b) Am{U (c) 4) EH$hr Zmhr

19) Which statement/s is/are not correct regarding the functions of Grampanchayat?

a) Prioritize the use of available development funds.

b) To determine the beneficiaries of welfare schemes.

c) Resolve the dispute in the village by Judicial way.

Answer Options :

1) Only (a) 2) Only (c) 3) (b) and (c) 4) Neither

20) 73 dr KQ>ZmXþéñVr hr ‘{hbm§gmR>r ‘hÎdmMr ‘mZbr OmVo H$maU Ë¶mZwgma -
1) g§K{Q>V joÌmV H$m‘ H$aUmè¶m {ó¶m§Zm 3 EodOr 6 ‘{hZo ‘mV¥Ëd aOm {‘imbr.
2) H$m‘mda hmoV Agboë¶m emofUmMr VH«$ma Ho$ë¶mg ‘{hbobm Img g§ajU XoÊ¶mV ¶oVo.
3) n§Mm¶VrV EHy$U g§»¶oÀ¶m EH$ V¥Vr¶m§e OmJm {ó¶m§gmR>r amIrd R>odUo ~§YZH$maH$ Ho$bo.
4) b¾mÀ¶m g§‘VrgmR>r d¶mMr {H$‘mZ ‘¶m©Xm dmT>{dÊ¶mV Ambr.

20) The 73rd Constitutional amendment is a significant development for women because :

1) Women working in organised sector are given six months maternity leave instead of three

months.

2) Women are given special protection if they complain of harassment at work place.

3) Out of the total number of seats in Panchayat 1/31d have to be reserved for women.

4) Age of consent at marriage is increased.
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21) n§Mm¶V amO ì¶dñWm ~iH$Q>rH$aUmg Cn¶wº$ ~m~r:
a) 73 dr KQ>Zm XþéñVr
b) {ó¶m d ‘mJmgdJu¶m§Zm 33% AmajU
c) amÁ¶ {dÎm Am¶moJmH$Sy>Z Am{W©H$ {dH$mg ¶moOZm§Zm {dYr CncãY
n¶m©¶r CÎmao :>
1) (a) {dYmZ ¶mo½¶ Amho. 2) (a) Am{U (b) {dYmZo ¶mo½¶ AmhoV.
3) (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV 4) (a),(b) Am{U (c) {dYmZo ¶mo½¶ AmhoV.

21) Useful aspects for strengthening of Panchayat Raj system :

a) 73rd Constitution Amendment.

b) 33% reservation of womens and backward classes.

c) Fund available for economic development schemes from Finance commission

Answer Options :

1) (a) is correct statement. 2) (a) and (b) are correct statements.

3) (b) and (c) are correct statements. 4) (a), (b) and (c) are correct statement.

22) XoemV ŷ‘r gwYma Cnm¶ am~{dÊ¶m‘mJo XmoZ C{ÔîQ>ço hmoVr, n{hbo eoVr CËnmXZ dmT>{dUo, Va Xþgao ......
1) g‘mO n[adV©Z 2) J«m‘rU {dH$mg 3) gm‘m{OH$ Ý¶m¶ 4) Xm[aÐç {Z‘y©bZ

22) Land reform measures were initiated in the country is for achieving the twin objectives first is

increasing agricultural production and second is

1) Social change 2) Rural development 3) Social justice 4) Poverty removal

3) J«m‘rU AW©H$maU
1) ¶mo½¶ n¶m©¶mer Imbrb OmoS>çm Owidm …

           H¥$fr - {d‘m H$m¶m©pÝdV Ho$bobo df©
a) amï´>r¶ H¥$fr {d‘m ¶moOZm i) 1993-94
b) ney YZ {d‘m ii) 2003-04
c) hdm‘mZ AmYm[aV nrH$ {d‘m iii) 1999-2000
d) H¥$fr CËnÞ {d‘m ¶moOZm iv) 2007-08
n¶m©¶r CÎmao …

a b c d

1) iii iv ii i

2) iv i iii ii

3) i ii iii iv

4) iii i iv ii

1) Match the following with their correct option :

Agricultural Insurance Introduced Year

a) National Agricultural Insurance Scheme i) 1993-94

b) Live Stock Insurance ii) 2003 — 04

c) Weather Based Crop Insurance iii) 1999 — 2000

d) Farm Income Insurance Scheme iv) 2007-08
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Answer options :

a b c d

1) iii iv ii i

2) iv i iii ii

3) i ii iii iv

4) iii i iv ii

2) gZ 2021-22 ‘Ü¶o ^maVmVrb H¥$fr joÌmgmR>r g§ñWmË‘H$ òmoV{Zhm¶ {Xboë¶m H$Om©Zwgma Imbrb H«$‘dmarZwgma
OmoS>çm Owidm.
              òmoV H«$‘dmar
a) ghH$mar {dÎmr¶ g§ñWm i) EH$
b) AZwgy{MV ì¶mdgm{¶H$ ~±H$ ii) XmoZ
c) àmXo{eH$ J«m‘rU ~±H$ iii) VrZ
n¶m©¶r CÎmao …

a b c

1) ii iii i

2) ii i iii

3) iii ii i

4) iii i ii

2) Match the following on their ranks according to institutional source wise loans issued to agriculture

in India in the year 2021 — 22.

                    Source Rank

a) Co-operative Financial Institutions i) One

b) Scheduled Commercial Banks ii) Two

c) Regional Rural Banks iii) Three

Answer options :

a b c

1) ii iii i

2) ii i iii

3) iii ii i

4) iii i ii

3) ‘hmË‘m Jm§Yr amï´>r¶ J«m‘rU amoOJma h‘r ¶moOZoA§VJ©V J«m‘rU ̂ mJmVrc nmÌ H$m‘Jmam§Zm dfm©VyZ {H$‘mZ {H$Vr {XdgmÀ¶m
amoOJmamMr h‘r XoÊ¶mV Amcr Amho ?
a) 110 {Xdg b)$ 100 {Xdg c)$ 90 {Xdg d) 30 {Xdg
n¶m©¶r CÎmao :
1) ’$º$ (c)$ 2) ’$º$ (d)$ 3) ’$º$ (b)$ 4) darcn¡H$s Zmhr

3) Under Mahatma Gandhi National Rural Employment Guarantee Scheme, how many minimum

number of days of  employment is guaranteed to eligible workers in rural areas in a year ?

a)  110 days b)  100 days c)  90 days d)  30 days

Answer Options :

(1)  Only (c) 2)  Only (d) 3)  Only (b) 4)  None of the above
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4) ^maVmVrb H¥$fr IM© d qH$‘Vr Am¶moJm~m~V Imbrb {dYmZo {dMmamV ¿¶m.
a) {dÚ‘mZ AÜ¶j àm. {dO¶ nm°b e‘m© AmhoV.
b) H§o$Ðr¶ H¥$fr ‘§Ìr ¶m Am¶moJmMo gXñ¶ AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ a ~amo~a 2) ’$º$ b ~amo~a
3) a Am{U b XmoÝhr ~amo~a Amho 4) a Am{U b XmoÝhr ~amo~a Zmhr

4) Consider the following statements about the Commission for Agricultural Cost and Prices in

India.

a) The present Chairman is Prof. Vijay Paul Sharma.

b) The Central Minister of Agriculture is the Member of this Commission.

Answer options :

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) Neither a nor b is correct

5) Am¡Úmo{JH$rH$aUmÀ¶m ‘mÜ¶‘mVyZ J«m‘rU {dH$mg gmÜ¶ H$aÊ¶mgmR>r ''J«m‘rU ^mJmV H$ƒm ‘mc nwa{dÊ¶mgh CÚmoJmÀ¶m
{dH$mgmgmR>r nm¶m ŷV gmo¶rgw{dYm Am{U {dñVma g‘W©Z àXmZ H$aÊ¶mMr O~m~Xmar amÁ¶ gaH$maH$S>o {Xcr nm{hOo''
Aer {e’$mag H$moÊ¶m g{‘VrZo Ho$cr ?
1) {edam‘Z g{‘Vr 2) àmXo{eH$ g‘Ýd¶ g{‘Vr
3) Jmoadmcm g{‘Vr 4) ~cd§Vam¶ ‘ohVm g{‘Vr

5) To attain rural development through industrialisation following recommendation is made by which

Committee : "state government should be given responsibility of providing basic facilities for

industrial development and supply of raw material in rural areas."

1) Shivraman Committee 2) Regional Co-ordination Committee

3) Gorawala Committee 4) Balwantray Mehta Committee

6) ‘hmamï´>mV J«m‘rU ^mJmVrb eoVH$è¶m§Mm ‘mb hm WoQ> J«mhH$mn¶ªV nmohM{dÊ¶mgmR>r Imbrbn¡H$s H$moUVr ¶moOZm gwê$
Ho$br?
a) lr g§V {eamo‘Ur lr gmdVm ‘mir eoVH$ar AmR>dS>r ~mOma
b) ‘hmË‘m Á¶moVr~m ’w$bo ^mOr ‘§S>B©
c) g§V VwH$mam‘ ‘hmamO eoVH$ar AmR>dS>r ~mOma
d) g§V EH$ZmW ‘hmamO eoVH$ar AmR>dS>r ~mOma
darbn¡H$s H$moUVm n¶m©¶ MwH$sMm Amho/AmhoV?
1) ’$º$ (a) 2) (b), (c) Am{U (d) 3) (c) Am{U (d) 4) darbn¡H$s gd©

6) Which of the following schemes was launched in Maharashtra to provide directly the farm produce

by the farmers in rural areas to the consumers?

a) Shree Sant Shiromani Shri Sawata Mali Farmers Weekly Market

b) Mahatma Jyotiba Phule Bhaji Mandai

c) Sant Tukaram Maharaj Farmers Weekly Market

d) Sant Ekanath Maharaj Farmers Weekly Market

Which of the option(s) given above is/are incorrect?

1) Only (a) 2) (b), (c) and (d) 3) (c) and (d) 4) All of the above
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7) ‘hmË‘m Jm§Yr amï´>r¶ J«m‘rU amoOJma h‘r ¶moOZoMr d¡{eîQ>ço H$moUVr AmhoV?
a) amoOJmamMr AOm©Ûmao ‘mJUr b) ~oH$ma ^Îmm (H$m‘ CnbãY Zgob Va)
c) IMm©Mr {d^mJUr d) emar[aH$ l‘ A§V ŷ©V Zgbobm amoOJmahr Amídm{gV
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (a), (b) Am{U (d) 3) (a), (b)Am{U (c) 4) gd© n¶m©¶ ~amo~a AmhoV

7) What are the features of Mahatma Gandhi National Rural Employment Guarantee Scheme?

a) Demand through employment application

b) Payment of the dole if work is not provided.

c) Cost Sharing

d) Employment involving no physical exercise also guaranteed.

Answer Options :

1) (a) and (b) 2) (a), (b) and (d) 3) (a), (b) and (c)            4) All options are correct

8) Imbrbn¡H$s H$moUVo {dYmZ/Zo ¶mo½¶ Zmhr/V?
a) J«m‘rU joÌmgmR>r {dH$mg d g§emoYZ {ZYrMr C^maUr H$aÊ¶mMo H$m¶© Zm~mS>© H$aVo.
b) eoVH$è¶m§Zm Am§Vaamï´>r¶ ì¶mnmamgmR>r Zm~mS>© ‘XV H$aVo.
c) ghH$mar nVg§ñWm§Mr ¶mo½¶ nwZa©MZm H$ê$Z H$m¶©j‘Vm dmT>{dÊ¶mMo H$m¶© Zm~mS>© H$aVo.
n¶m©¶r CÎmao …
1) (a), (b) 2) ’$º$ (b) 3) (a), (c) 4) ’$º$ (a)

8) Which one of the following statement/s is/are not correct ?

a) It is a function of NABARD to raise funds for the development and research in Rural Sector.

b) NABARD helps the farmers for International trade.

c) Function of NABARD is to reconstruct the co-operative societies in order to make them

more efficient.

Answer options :

1) (a), (b) 2) Only (b) 3) (a),(c) 4) Only (a )

9) Imbrbn¡H$s H$moUË¶m ZmdmZo 1 E{àb 2015 Vo 31 ‘mM© 2019 n¶ªVÀ¶m {nH$ H$Om©Mr ‘m’$sMr ¶moOZm AmoiIbr OmVo?
a) N>ÌnVr {edmOr ‘hmamO ñdm{^‘mZr eoVH$ar H$O© ‘wº$s ¶moOZm
b) ‘hmË‘m Jm§Yr eoVH$ar H$O© ‘wº$s ¶moOZm
c) Hw$gw‘ ¶moOZm
d) ‘hmË‘m Á¶moVramd ’w$bo eoVH$ar H$O© ‘wº$s ¶moOZm
darbn¡H$s H$moUVm n¶m©¶ ~amo~a Amho?
1) (a) 2) (c) 3) (d) 4) (b)

9) The scheme of crop loan waiver from 1st April, 2015 to 31st March 2019 is known as......

a) Chhatrapati Shivaji Maharaj Swabhimani Farmer Debt Relief Scheme.

b) Mahatma Gandhi Farmer's loan waiver scheme

c) KUSUM Yojana

d) Mahatma Jyotirao Phule Shetkari Karj Mukti Yojana

Which of the option given above is correct?

1) (a) 2) (c) 3) (d) 4) (b)
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10) 1 OmZodmar, 2016 nmgyZ {dH${gV Xoem§À¶m gXñ¶m§Ûmao Am{U {dH$gZerb Xoem§À¶m gXñ¶m§H$Sy>Z H$‘r {dH${gV Xoem§VyZ
Amboë¶m H$mnyg Am{U H$mnyg-g§~§{YV CËnmXZm§Zm ewëH$ ‘wº$ Am{U H$moQ>m-‘wº$ ~mOmanoR> CnbãY H$ê$Z {Xbr OmB©b.
ho {dYmZ ¶m§À¶mer g§~§{YV Amho.
1) Z¡amo~r n°Ho$O 2) AO]{Q>Zm n°Ho$O 3) ~mbr n°Ho$O 4) hm±JH$m±J n°Ho$O

10) Cotton and Cotton-related products originating from least developed countries shall be provided

duty free and quota free market access by developed country members and developing country

members from January 1, 2016. This statement is related to

1) Nairobi Package 2) Argentina Package 3) Bali Package 4) Hong Kong Package

11) Oa emgZmZo eoVH$è¶m§Zm amoI ‘XV Ho$br Va S>ãë¶yQ>rAmo {ZH$fmZwgma Vo ...... ‘Ü¶o g‘m{dï> hmoVo.
1) {Zir noQ>r 2) ídoV noQ>r 3) harV noQ>r 4) bmb noQ>r

11) If the Government makes direct payment to farmers, this is part of as per WTO term.

1) Blue Box 2) White Box 3) Green Box 4) Red Box

12) Imbrb {dYmZo {dMmamV ¿¶m.
a) J«m‘rU àË¶¶ nwadR>çmMm gdmªJrU Aä¶mg H$aÊ¶mgmR>r àm. E. E‘. Iwgamo ¶m§À¶m AÜ¶jVoImbr ^maVr¶ [aPìh©

~±Ho$Zo g{‘Vr {Z¶wº$ Ho$br hmoVr.
b) àm. E. E‘. Iwgamo g{‘VrZo, ''nrH$ {d‘m ‘hm‘§S>i'' ñWmnZ H$aÊ¶mMr gyMZm Ho$br.
darbn¡H$s H$moUVo/H$moUVr {dYmZ/Zo ~amo~a Amho/AmhoV?
n¶m©¶r CÎmao …
1) a Am{U b 2) ’$º$ b 3) ’$º$ a 4) darbn¡H$s Zmhr

12) Consider the following statements.

a) A committee was appointed by the Reserve Bank of India under the Chairmanship of Prof. A.M.

Khusro to conduct a comprehensive study of rural credit provision.

b) Prof. A.M. Khusro Committee suggested setting up of "Crop Insurance Corporation".

Which of the statements given above is/are correct ?

1) a and b 2) Only b 3) Only a 4) None of the above

13) eoVH$è¶mcm XrK© ‘wXVrMo H$O© H$moUVr ghH$mar ~±H$ XoVo ?
a) amÁ¶ ghH$mar H¥${f Am{U J«m‘rU {dH$mg ~±H$ b) ZmJar ghH$mar ~±H$
c) àmW{‘H$ ghH$mar H¥${f Am{U J«m‘rU {dH$mg ~±H$ d) ¶mn¡H$s Zmhr
¶mo½¶ n¶m©¶ {ZdS>m :
1) XmoÝhr (a) Am{U (b) 2) (c) 3) XmoÝhr (a) Am{U (c) 4) (d)

13) Which Cooperative Bank gives long term loan to the farmer ?

a) State Cooperative Agricultural and Rural Development Bank

b) Urban Cooperative Bank

c) Primary Cooperative Agricultural and Rural Development Bank

d) None of these

Answer options : .

1) Both (a) and (b) 2) (c) 3) Both (a) and (c) 4) d
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14) Imcrc {dYmZo {dMmamV ¿¶m :
a) àmXo{eH$ J«m‘rU ~±°H$ ì¶mnmar ~±Ho$Ûmao àm¶mo{OV Ho$cr OmVo.
b) àmXo{eH$ J«m‘rU ~±H$m {H$gmZ H«o${S>Q> H$mS>© ¶moOZm am~drV ZmhrV.
c) Zm~mS>©Zo ñdU© O¶§Vr J«m‘ ñdamoOJma ¶moOZoÀ¶m A§‘c~OmdUr~m~V H$m ©̀pÝdV H$aÊ¶mÀ¶m gyMZm àmXo{eH$ J«m‘rU

~±H$m§Zm Omar Ho$ë¶m AmhoV.
darcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/V ?
1) (a) Am{U (b) ¶mo½¶ AmhoV 2) (b) Am{U (c) ¶mo½¶ AmhoV
3) (a) Am{U (c) ¶mo½¶ AmhoV 4) darcn¡H$s gd© ¶mo½¶ AmhoV

14) Consider the following statements :

a) Regional Rural Bank is sponsored by a commercial bank.

b) Regional Rural Banks are not implementing Kisan Credit Card Scheme.

c) NABARD has issued operational instructions to Regional Rural Banks with regards to

implementation of Swarnajayanti Gram Swarozgar Yojana.

Which of the statement/s given above is/are correct ?

1) (a) and (b) are correct 2) (b) and (c) are correct

3) (a) and (c) are correct 4) All of the above are correct

15) {H$‘mZ H«o${S>Q> H$mS>©~m~V Imbrbn¡H$s H$moUVr {dYmZ/Zo ~amo~a AmhoV?
a) {H$‘mZ H«o${S>Q> H$mS>© ^maV gaH$maZo 1998 ‘Ü¶o RBI À¶m ghH$m¶m©Zo gwê$ Ho$bo
b) {H$gmZ Ho«$S>rQ> H$mS>© da eoVH$è¶m§Zm 12 ‘{hÝ¶mH$[aVm {~Zì¶mOr H$O© àmá hmoVo.
c) {H$‘mZ H«o${S>Q> H$mS>© eoVH$è¶m§Zm amoH$S> H$O© gw{dYm nwa{dVo.
n¶m©¶r CÎmao …
1) Ho$di a d c ~amo~a Amho 2) Ho$di c ~amo~a Amho
3) Ho$di b ~amo~a Amho 4) darb gd© {dYmZo ~amo~a AmhoV

15) Which of the following statement/s is/are correct about Kisan Credit Card ?

a) Kisan Credit Card was launched by Govt. of India in 1998 with the help of RBI

b) Farmers get interest free loan for 12 months on Kisan Credit Card

c) Kisan Credit Card provides cash loan facility to farmers

Answer options :

1) Only statement a and care correct 2) Only c is correct

3) Only b is correct 4) All above statements are correct

16) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
a) J«m‘rU ^mJmV CKS> ~oH$mar OmñV AmT>iVo.
b) àÀN>Þ ~oH$mar eoVr joÌmV OmñV AmT>iVo.
n¶m©¶r CÎmao …
1) (a) ~amo~a Amho 2) (b) ~amo~a Amho
3) (a) Am{U (b) ~amo~a AmhoV 4) darbn¡H$s H$moUVohr ~amo~a Zmhr
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16) Which of the following statement is correct ?

a) Open unemployment is mostly seen in rural areas.

b) Disguised unemployment is mostly seen in agriculture sector.

Answer options :

1) (a) is correct 2) (b) is correct

3) (a) and (b) are correct 4) None of above are correct

17) ~o{gH$ gpìh©gog Q>y A~©Z nwAa ¶moOZoV Imbrbn¡H$s H$moUË¶m godm§Mm g‘mdoe hmoVmo?
a) amoOJmamMr gmYZo {Z‘m©U H$ê$Z XoUo.
b) ‘mo’$V Kam§Mo dmQ>n H$aUo.
c) ‘mb‘Îmm {Z{‘©Vr Am{U ‘mb‘Îmm ì¶dñWmnZ ¶m‘Ü¶o ¶mo½¶ ‘oi KmbUo.
d) ehamVrb Jar~m§À¶m godm§‘Ü¶o nmUrnwadR>m Am{U ñdÀN>VoMm g‘mdoe hmoVmo.
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (c) Am{U (d) 4) (b), (c) Am{U (d)

17) Basic services to urban poor scheme covers which of the following services?

a) Creating means of employment.

b) Allocation of free houses.

c) Proper matching between asset creation and asset management.

d) Services to the urban poor include water supply and sanitation.

Answer Options :

1) (a) and (b) 2) (b) and (c) 3) (c) and (d) 4) (b), (c) and (d)

18) nwT>rc {dYmZm§n¡H$s H$moUVo EH$ {dYmZ ¶mo½¶ Amho ?
a) ^maVmV H¥$fr joÌmV {XgUmar ~oamoOJmar Nw>nr ~oamoOJmar hmo¶.
b) Oo CÚmoJ eoVrda Adc§~yZ AgVmV {VWo h§Jm‘r ~oamoOJmar {XgVo.
n¶m©¶r CÎmao :>
1) ’$º$ (a) 2) ’$º$ (b) 3) XmoÝhr 4) EH$hr Zmhr

18) Which one of the following statements is correct?

a) Unemployment that is visible in agriculture sector is disguised unemployment.

b) Seasonal unemployment appears in industries which are dependent on agriculture.

Answer Options :

1) Only (a) 2) Only (b) 3) Both 4) None of the above

19) ~o{gH$ gpìh©gog Q>y A~©Z nwAa ¶moOZoV Imbrbn¡H$s H$moUË¶m godm§Mm g‘mdoe hmoVmo?
a) amoOJmamMr gmYZo {Z‘m©U H$ê$Z XoUo.
b) ‘mo’$V Kam§Mo dmQ>n H$aUo.
c) ‘mb‘Îmm {Z{‘©Vr Am{U ‘mb‘Îmm ì¶dñWmnZ ¶m‘Ü¶o ¶mo½¶ ‘oi KmbUo.
d) ehamVrb Jar~m§À¶m godm§‘Ü¶o nmUrnwadR>m Am{U ñdÀN>VoMm g‘mdoe hmoVmo.
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (c) Am{U (d) 4) (b), (c) Am{U (d)
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19) Basic services to urban poor scheme covers which of the following services?

a) Creating means of employment.

b) Allocation of free houses.

c) Proper matching between asset creation and asset management.

d) Services to the urban poor include water supply and sanitation.

Answer Options :

1) (a) and (b) 2) (b) and (c) 3) (c) and (d) 4) (b), (c) and (d)

4) J«m‘rU  nm¶m ŷV g§aMZm
1) 2016-17 ¶m dfm©V àYmZ‘§Ìr J«m‘ gS>H$ ¶moOZoA§VJ©V emgZmZo EH$m dfm©À¶m H$mbmdYrV .... {H$.‘r. añVo {Z{‘©VrMo

H$m¶© Ho$bo.
1) 25,000 2) 17,500 3) 47,350 4) 15,000

1) In the year 2016-17, under the Pradhan Mantri Gram Sadak Yojna, Govt. has made km roads in the

span of one year.

1) 25,000 2) 17,500 3) 47,350 4) 15,000

2) Imbrb {dYmZo {dMmamV ¿¶m.
a) ̂ maVmÀ¶m ‘mZZr¶ AW©‘§Í¶m§Zr 15-05-2020 amoOr é. 1 bmI H$moQ>r H¥$fr nm¶m ŷV gw{dYm {ZYrMr KmofUm Ho$br.
b) H¥$fr nm¶m ŷV gw{dYm {ZYrMr Am¡nMm[aH$ gwédmV ^maVmÀ¶m ‘mZZr¶ n§VàYmZm§Zr 09-08-2020 amoOr Ho$br.
c) 2021-22 Vo 2030-31 dfm©n¶ªV H¥$fr nm¶m ŷV gw{dYm {ZYr H$m¶©aV amhrc.
n¶m©¶r CÎmao …
1) ’$º$ a MyH$ Amho 2) b Am{U c MyH$ Amho 3) ’$º$ c MyH$ Amho 4) darbn¡H$s gd© MyH$ AmhoV

2) Consider the following statements :

a) Hon’ble Finance Minister of India on 15-05-2020 announced Rs. 1 lakh crore Agriculture

Infrastructure fund.

b) Agriculture Infrastructure Fund was formally launched by the Hon’ble Prime Minister of India

on 09-08-2020.

c) Agriculture Infrastructure Fund scheme is operational from the year 2021-22 to 2080-31.

Which of the statement/s given above is /are incorrect ?

1) Only a is incorrect 2) b and c are incorrect

3) Only c is incorrect 4) All of the above are incorrect

3) ^maV gaH$maZo EHy$U IMm©À¶m VwbZoV eoVr Am{U eoVrnyaH$ joÌmda Ho$bobm IM© (Q> o̧$dmar) n§Mdm{f©H$ ¶moOZmZwgma
MT>Ë¶mH«$‘mZo bmdm.
a) n{hbr n§Mdm{f©H$ ¶moOZm b) Mm¡Wr n§Mdm{f©H$ ¶moOZm
c) gmVdr n§Mdm{f©H$ ¶moOZm d) ~mamdr n§Mdm{f©H$ ¶moOZm
n¶m©¶r CÎmao …
1) a, b, c, d 2) c, b, d, a 3) c, b, a, d 4) d, c, b, a
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3) Arrange the five year plan wise expenditure (in%) on agriculture and allied sectors by the Govt.

of India in ascending order.

a) Ist five year plan b) IVth five year plan

c) VIIth five year plan d) XIIth five year plan

Answer options :

1) a, b, c, d 2) c, b, d, a 3) c, b, a, d 4) d, c, b, a

4) Imbrb {dYmZo {dMmamV ¿¶m d ¶mo½¶ n¶m©¶ {ZdS>m …
a) 2022-23 Xaå¶mZ B©-Zm‘ nmoQ>©b‘Ü¶o ‘hmamï´>mVrb 118 EnrE‘gr g‘m{dï> AmhoV.
b) 2022-23 Xaå¶mZ, 77 EnrE‘gr ‘Ü¶o Am°ZbmB©Z JoQ> EÝQ´>r, B©-{bbmd gwê$ H$aÊ¶mV Ambo Amho.
n¶m©¶r CÎmao …
1) ’$º$ b ¶mo½¶ Amho 2) XmoÝhr a Am{U b ¶mo½¶ AmhoV
3) ’$º$ a ¶mo½¶ Amho 4) darbn¡H$s H$moUVohr ¶mo½¶ Zmhr

4) Consider the following statements and choose correct option.

a) During 2022-23, 118 APMCs in the Maharashtra have been included under e-NAM Portal.

b) During 2022-23, online gate entry, e-auction have been started in 77 APMCs.

Answer options :

1) Only b is correct 2) Both a and b are correct

3) Only a is correct 4) None of the above are correct

5) OmoS>çm Owidm :
     (amÁ¶) (Ocg§dY©Z ¶moOZm)
a) Am§Y« àXoe i) H${ncYma {d{har
b) Voc§JUm ii) {‘eZ H$mH$Vr¶
c) ‘Ü¶ àXoe iii) Oc¶wº$ {edma
d) ‘hmamï´> iv) {Zé MoVy
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (iv) (ii) (i) (iii)
3) (i) (iii) (ii) (iv)

4) (ii) (iv) (iii) (i)

5) Match the following :

(State)                         (Water conservation scheme)

a) Andhra Pradesh i) Kapildhar Vihiri

b) Telangana ii) Mission Kaktiy

c) Madhya Pradesh iii) Jalyukt Shivar

d) Maharashtra iv) Niru Chetu

Answer Options :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (iv) (ii) (i) (iii)

3) (i) (iii) (ii) (iv)

4) (ii) (iv) (iii) (i)
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6) XoemVrb n{hbo ñ‘mQ>© {S>{OQ>b pìhboO hmoÊ¶mMm ‘mZ ‘hmamï´>mVrb H$moUË¶m Jmdmbm {‘imbm?
1) {hgma 2) {hdao~mOma 3) h[agmi 4) amioJU{gÕr

6) Which of the following villages in Maharashtra has been honoured as the first smart digital village

in India ?

1) Hissar 2) Hivarebazar 3) Harisal 4) Ralegan Siddhi

7) a)$EH$mpË‘H$ Oc AmamIS>m V¶ma H$aUmao ‘hmamï´> ho XoemVrc n{hco amÁ¶ Amho.
b)$‘hmamï´>mVrc JmoXmdar, H¥$îUm, Vmnr, Z‘©Xm d ‘hmZXr ¶m Imoè¶m§Mm EH$mpË‘H$ Oc AmamIS>çmV g‘mdoe Amho.
n¶m©¶r CÎmao :
1) ’$º$ (a)$ 2) ’$º$ (a)$ 3) (a)$Am{U (b) 4) darcn¡H$s Zmhr.

7) (a) Maharashtra is the first state in the country to have Integrated Water Plan.

(b) The Integrated Water Plan includes Godavari, Krishna, Tapi, Narmada and Mahanadi rivers

in Maharashtra.

Which of the option(s) given above is/are incorrect ?

1)  Only (b)                  2)  Only (a) 3)  (a) and (b) 4)  None of the above

8) Xebj {dhrar ¶moOZm, 1999 ‘Ü¶o ...... ‘Ü¶o {dbrZ H$aÊ¶mV Ambr.
1) Odmha amoOJma ¶moOZm 2) amï´>r¶ J«m‘rU amoOJma H$m¶©H«$‘
3) J«m‘rU ŷ{‘hrZ amoOJma h‘r H$m¶©H«$‘ 4) ñdU©O¶§Vr J«m‘ ñdamoOJma ¶moOZm

8) Million Wells Scheme was merged with the in 1999,

1) Jawahar Rozgar Yojana

2) National Rural Employment Programme

3) Rural Landless Employment Guarantee Programme

4) Swarnjayanti Gram Swarojgar Yojana

9) 1 Owb¡, 2015 amoOr n§VàYmZ J«m‘ qgMmB© ¶moOZm (PMGSY) gwê$ H$aÊ¶m‘mJMm CÔoe …
a) XoemV eoVr Cn¶moJr O‘rZ V¶ma H$aUo.
b) nmÊ¶mMm Anì¶¶ H$‘r H$aUo.
c) eoVmV nmÊ¶mMm dmna H$a‘r H$aUo.
d) nmUr ~MV V§ÌkmZ Am{U qgMZ bmJy H$ê$Z nrH$ CËnmXZ dmT>[dUo.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
1) (b), (c) Am{U (d) 2) (a) Am{U (b) 3) (a), (b) Am{U (c) 4) darb gd©

9) The objectives behind starting the Pantpradhan Gram Sinchayi Yojana on Is’ July 2015 :

a) To create land suitable for farming in the country.

b) To reduce the wastage of water.

c) To reduce the usage of water in farms.

d) To increase the crop productivity by implementing water saving technology and irrigation.

Which of the above statement (b) is/are correct ?

1) (b), (c) and (d) 2) (a) and (b) 3) (a), (b) and (c) 4) All above
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10) n§Mm¶V g§Mma godm ¶moOZmMo ’$m¶Xo …
a) JaOy ^mJmbm Ý¶yZV‘ gaH$mar IMm©‘Ü¶o Q>nmb godm nwadUo.
b) g§~§{YV ^mJm‘Ü¶o amoOJma g§Yr {Z‘m©U H$aUo.
c) ehar ^mJmV doJdmZ Q>nmb (ñnrS> nmoñQ>) godm nwadUo.
d) n§Mm¶V g§Mma godm ¶moOZoÀ¶m ‘m’©$V ehar ^mJmV ~MV {Z{‘©Vr H$aUo.
n¶m©¶r CÎmao …
1) (a) Am{U (c) {dYmZo ~amo~a AmhoV 2) (a) Am{U (b) {dYmZo ~amo~a AmhoV
3) (b), (c) Am{U (d) {dYmZo ~amo~a AmhoV 4) (c) {dYmZ ~amo~a Amho

10) Advantage of the Panchayat Sanchar Sewa Scheme :

a) Providing Postal Services to needy area with less government expenditure.

b) Generating employment opportunities in these areas.

c) Providing speed post services to the Urban area.

d) Generating saving through The Panchayat Sanchar Sewa Scheme in Urban areas,

Answer Options :

1) (a) and (c) statements are correct 2) (a) and (b) statements are correct

3) (b), (c) and (d) statements are correct 4) (c) statement is correct

11) H|$Ð gaH$maZo nrE‘OrEgdm¶ 3 H$m¶©H«$‘ ‘§Oya Ho$cm ¶m‘Ü¶o J«m‘rU ^mJ H$emZo OmoS>cm OmUma Amho ?
a)$Am§Vaamï´>r¶ {d‘mZVio b)$J«m‘rU H¥$fr ~mOma c)$Cƒ ‘mÜ¶{‘H$ emim d)$é½Umc¶o
n¶m©¶r CÎmao :
1) (a)$Am{U (b)$ 2) (a),(b)$Am{U (c) 3) (b),(c) Am{U (d)$ 4) gd© n¶m©¶ ~amo~a AmhoV

11) The Central Government has sanctioned PMGSY 3 programmes in rural areas. What is it that is

going to be corrected ?

a) International Airports b)  Rural Agriculture Markets

c)  Higher Secondary Schools d) Hospitals

Answer Options :

1)  (a) and (b) 2)  (a), (b) and (c) 3)  (b), (c) and (d)   4)  All options area correct

12) Imbrbn¡H$s àYmZ‘§Ìr H¥$fr qgMmB© ¶moOZoMr C{ÔîQ>ço H$moUVr AmhoV?
a) AmYw{ZH$ V§ÌkmZmÛmao gyú‘ qgMZmImbrb joÌmV dmT> H$aUo.
b) Ob dmna H$m¶©j‘VoV dmT> H$aUo.
c) H¥$fr CËnÞmV dmT> H$aUo.
d) AmYw{ZH$ V§ÌkmZmda AmYm[aV H¥$fr d ’$bmoÚmZmMm {dH$mg H$aÊ¶mgmR>r gyú‘ qgMZ nÕVrMm {dH$mg H$aUo.
darbn¡H$s H$moUVo {dYmZ/{dYmZo MyH$ Amho/AmhoV?
1) ’$º$ (a) 2) (a) Am{U (c) 3) (b) Am{U (d) 4) darbn¡H$s gd©

12) Which of the following are the objectives of the Pradhan Mantri Krushi Sinchai Scheme ?

a) To increase the micro irrigation sector through modem technology.

b) To increase the water utility efficiency.

c) To increase the agricultural production.

d) To develop the micro irrigation method through modem technology to increase the agricultural

and horticulture development.

Which of the statement(s) given above is/are incorrect ?

1) Only (a ) 2) (a) and (c) 3) (b) and (d) 4) None of the above
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13) Imcrcn¡H$s H$moUË¶m ¶moOZo A§VJ©V ‘hmamï´> emgZmZo J«m‘rU ^mJmV B g. 2024 n¶ªV "ha Ka, Zi go Oc"
nmUrnwadR>m H$aÊ¶mMo C{Ôï> R>a{dÊ¶mV Amco hmoVo ?
a)$AQ>c ŷOc ¶moOZm b)$Oc OrdZ {‘eZ
c)$‘w»¶‘§Ìr nmUrnwadR>m ¶moOZm d)$J«m‘rU ŷOc {‘eZ
n¶m©¶r CÎmao :
1) ’$º$ (a)$ 2) ’$º$ (b)$ 3) (a)$Am{U (b)$ 4) darcn¡H$s Zmhr

13) Under which of the following schemes had the Government of Maharashtra set a target to supply

water  to Tlar Ghar, Nal se Jal’ inrural areas by 2024 ?

(a)  Atal Bhujal Yojana (b) Jal Jivan Mission

(c)  Mukhyamantri Panipurwatha Yojana (d)  Gramin Bhujal Mission

Answer Options :

1)  Only (a) 2)  Only (b) 3)  (a) and (b) 4)  None of the above

14) amîQ´>r¶ J«m‘rU Amamo½¶ A{^¶mZmMr gm‘m{OH$ nmVirdarc hr C{ÔîQ>ço AmhoV :
a) A§JUdmS>r ñVamda Amamo½¶ {XZ nmiUoo.
b) Mm§Jcr é½Umc¶ ì¶dñWm {Z‘m©U H$aUo.
c) Xm[aÐçaofoImcrc Hw$Qw>§~mgmR>r OZZr gwajm ¶moOZm à^mdrnUo am~{dUo hr C{ÔîQ>ço AmhoV..
darcn¡H$s H$moUVo ~amo~a Amho/AmhoV?
1) ’$º$ (a) 2) (a) Am{U (b) 3) (b) Am{U (c) 4) darc gd©

14) These are community levels goals of National Rural Health Mission :

a) To celebrating Health Day At Anganwadi level.

b) To creating a good hospital system.

c) These are the objectives to effectively implement the Janani Suraksha Yojana for the Below

Poverty line family.

Which of the statement(s) given above is/are correct?

1) Only (a) 2) (a) and (b) 3) (b) and (c) 4) All of the above

15) amï´>r¶ no¶Oc H$m¶©H«$‘mMo ‘w»¶ C{ÔîQ>ço åhUOo :
a) àË¶oH$ J«m‘rU ì¶º$sg ewÕ nmUr nwadR>m H$aUo.
b) J«m‘rU ^mJmV ñd¶§nmH$mgmR>r Am{U KaJwVr dmnamgmR>r ewÕ nwaogm d emídVnUo gmo¶rÀ¶m {R>H$mUr nmUr CncãY

H$éZ XoUo.
darcn¡H$s H$moUVo {dYmZ/{dYmZo MyH$ Amho/AmhoV ?
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) Am{U (b) 4) darcn¡H$s Zmhr

15) The main objective of the Rashtriy Paiyjal Programme is to :

a) Provide clean water to every rural person.

b) Providing water in clean, adequate and sustainable facility for cooking and domestic use in

rural areas.

Which of the statement(s) given above is/are incorrect?

1) Only (a) 2) Only (b) 3) (a) and (b) 4) None of the above
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16) XrZX¶mi CnmÜ¶m¶ J«m‘ Á`moVr ¶moOZm 25 gßQ>|~a 2014 amoOr gwê$ Ho$cr H$maU :
a) 1 ‘o 2018 n¶ªV gd© IoS>çm§Zm drOnwadR>m H$aÊ¶mgmR>r
b) eoVr d KaJwVr dmnamgmR>rMm drOnwadR>m doJim H$aÊ¶mgmR>r
c) {dOoMr JiVr Wm§~{dÊ¶mgmR>r gd©Ì ‘rQ>a ~g{dÊ¶mgmR>r hr ¶moOZm gwê$ H$aÊ¶mV Amcr.
darcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) (a), (b) Am{U (c) 2) (a) Am{U (c) 3) (b) Am{U (c) 4) darcn¡H$s Zmhr

16) Dindayal Upadhyay Gram Jyoti Yojana started on 25th September 2014 because of :

a) To supplyelectricity to all villages upto 1st May 2018 ;

b) To separate electricity supply for agriculture and domestic use.

c) This scheme was started to set up meter everywhere to prevent electricity leakage.

Which of the statement(s) given above is/are correct?

1) (a),(b) and (c) 2) (a) and (c) 3) (b) and (c) 4) None of the above

17) Imcrcn¡H$s ‘hmamï´> emgZmZo "ñ‘mQ>© J«m‘ ¶moOZoMo" H$moUVo Zm‘H$aU Ho$co Amho ?
a)$ñd. ~mimgmho~ R>mH$ao J«m‘ g‘¥Õr ¶moOZm b)$AÊUm hOmao J«m‘ ñdamÁ¶ ¶moOZm
c)$Ama. Ama. Am~m nmQ>rc gw§Xa Jmd nwañH$ma ¶moOZm d)$ñd. JmonrZmW ‘w§S>o ñ‘mQ>© J«m‘ ¶moOZm
n¶m©¶r CÎmao :
1) ’$º$ (b)$ 2) ’$º$ (a)$ 3) ’$º$ (c)$ 4) darcn¡H$s Zmhr

17) ‘Smart Village Scheme’ by the Government of Maharashtra is named as :

(a)  Late Balasaheb Thackeray Gram Samrudhi Yojana

(b)  Anna Hazare Gram Swarajya Yojana

(c)  R.R. Aba Patil Sundar Gaon Puruskar Yojana

(d)  Late Gopinath Munde Smart Gram Yojana

Answer Options :

1)  Only (b) 2)  Only (a) 3)  Only (c) 4)  None of the above

18) J«m‘rU ^mJmV ZmJar gw{dYm§Mr CnbãYVm (PURA) ¶moOZoMr Imbrbn¡H$s à‘wI C{ÔîQ>ço AmhoV …
a) J«m‘rU ^mJm‘Ü¶o ZmJar gw{dYm Am{U OrdZ OJÊ¶m¶mo½¶ g§YrMm nwadR>m H$aUo.
b) ZmJar d J«m‘rU {dH$mgmV {Z‘m©U Pmbobm ôX Xÿa H$aUo d g‘Ýd¶ àñWm{nV H$aUo.
c) J«m‘rU ^mJmVyZ ZmJar ^mJmV hmoUmè¶m bmoH$g§»¶oÀ¶m ñWbm§VamMo à‘mU H$‘r H$aUo.
d) amOH$s¶ ZoV¥ËdmMm {dH$mg H$aUo.
darbn¡H$s H$moUVo {dYmZ/{dYmZo MwH$sMr Amho/AmhoV?
1) ’$º$ (d) 2) (b) Am{U (c) 3) (a), (b) Am{U (c) 4) darbn¡H$s gd©

18) Main objectives of Providing Urban Amenities in Rural Areas (PURA) scheme is :

a) To providing opportunity civic amenities and life sustaining opportunities in Rural Areas.

b) To bridge the gap between the Urban-rural development and to co-ordinate.

c) To reduce the percentage of migration from rural to urban areas.

d) To develop the political leadership.

Which of the above statement is/are incorrect?

1) Only (d) 2) (b) and (c) 3) (a), (b) and (c) 4) All of the above
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5) J«m‘rU {dH$mg
1) ^maV gaH$maZo .............. gmcr "AmH$m§jr {Oëhm H$m¶©H«$‘mMr" gwédmV Ho$cr.

1) 2014 2) 2018 3)  2021 4) 2022
1) The 'Aspirational Districts Programme' was launched in the year ______ by the Government of

India.

1) 2014 2) 2018 3) 2021 4) 2022

2) Imbrb {dYmZm§n¡H$s H$moUVo ~amo~a Amho?
a) amï´>r¶ J«m‘rU Amamo½¶ A{^¶mZ hm H$m¶©H«$‘ 12 E{àb 2005 amoOr XoemV gwê$ Pmbm.
b) amï´>r¶ J«m‘rU Amamo½¶ A{^¶mZ hm H$m¶©H«$‘ àW‘ X{jU ^maVmVrb amÁ¶mV bmJy Ho$bm Jobm.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) XmoÝhr MwH$sMo AmhoV 4) XmoÝhr ~amo~a AmhoV

2) Which of the following statement is correct?

a) National Rural Health Mission was started in the Country on 12th April, 2005.

b) The Programme National Rural Health Mission is first enforced in the states of Southern

India.

Answer Options :

1) Only (a) 2) Only (b) 3) Both are incorrect 4) Both are correct

3) 'amï´>r¶ J«m‘ ñdamO A{^¶mZ' (RGSA) ~m~V Imbrb {dYmZo {dMmamV ¿¶m …
a) 1 E{àb 2022 Vo 31 ‘mM© 2026 ¶m H$mbmdYrV gwYm[aV amï´>r¶ J«m‘ ñdamO A{^¶mZ Mmby R>odÊ¶mg Am{W©H$

ì¶dhmamVrb H°${~ZoQ> g{‘VrZo (CCEA) ‘mÝ¶Vm {Xbr Amho.
b) amÁ¶ KQ>H$m§gmR>r gm‘m{¶H$aU JwUmoÎma (Sharing ratio) à‘mU ho AZwH«$‘o H|$Ð-amÁ¶o 60 … 40 Ago Agob.
c) nydm}Îma d S>m|Jami amÁ¶o Am{U Oå‘y Am{U H$mí‘ra ¶m H|$Ðem{gV àXoemV H|$Ð-amÁ¶o ¶m§Mm {hñgm 80…20 Agm

Agob.
d) ¶m CnH«$‘m‘wio ñWm{ZH$ ñdamÁ¶ g§ñWm§Zm ZD$ {df¶m§gmR>r (Nine themes) emídV {dH$mg C{Ôï>m§Mo (SDGs)

ñWm{ZH$sH$aU H$aUo e³¶ hmoB©b Aer Anojm Amho.
darbn¡H$s H$moUVr {dYmZo {~ZMyH$ AmhoV?
1) darb gd© 2) (a), (b) Am{U (d) 3) (b), (c) Am{U (d) 4) (a), (b) Am{U (c)

3) Consider the following statements regarding ‘Rashtriya Gram Swaraj Abhiyan’ (RGSA) :

a) The Cabinet Committee on Economic Affairs (CCEA) approved the continuation of the

revamped RGSA from April-1, 2022 to March 31, 2026.

b) The sharing ratio for the state components will be in the ratio of 60 : 40 among centre and

States respectively.

c) In North-East, Hilly states and Union Territory of Jammu & Kashmir, the Central and State

share will be 80 : 20.

d) The initiative is expected to enable Panchayat Raj Institutions to deliver on localization of

sustainable development goals for nine themes.

Which of the statements given above are correct ?

1) All above 2) (a), (b) and (d) 3) (b), (c) and (d) 4) (a), (b) and (o)
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4) ...... ¶m§À¶m O¶§VrÀ¶m {Xder Am°³Q>mo~a 11, 2014 amoOr ̂ maVmMo àYmZ‘§Ìr ¶m§Zr ''gm§gX AmXe© J«m‘ ¶moOZm'' Om{ha
Ho$br.
1) AQ>b {~hmar dmOno¶r 2) {XZX¶mi CnmÜ¶m¶
3) Za|Ð ‘moXr 4) bmoH$Zm¶H$ O¶àH$me Zmam¶U

4) The Prime Minister of India launched "Saansad Adarsh Gram Yojana" on October 11, 2014, the

birth anniversary of ........

1) Atal Bihari Vajpayee 2) Deen-Dayal Upadhyaya

3) Narendra Modi 4) Loknayak Jayaprakash Narayan

5) 'gm§gX AmXe© J«m‘ ¶moOZoMr' Imbrbn¡H$s H$moUVr C{ÔîQ>ço AmhoV?
a) àm‘w»¶mZo IoS>çm§Mm {dH$mg H$aUo Ano{jV Amho.
b) IoS>çm‘Ü¶o ñ‘mQ>© emim, Amamo½¶ gmo¶r, n¸$s Kao BË¶mXrMm {dH$mg H$aUo.
c) J«m‘rU ^mJmVrb nm¶m ŷV gmo¶rMo ZyVZrH$aU H$aUo.
d) àË¶oH$ ImgXmamZo Amnë¶m ‘VXmag§KmVrb EH$ Jmd XÎmH$ KoUo.
darbn¡H$s H$moUVm n¶m©¶ MwH$sMm Amho/AmhoV?
1) ’$º$ (c) 2) (a) Am{U (c) 3) (a), (b) Am{U (d) 4) darbn¡H$s Zmhr

5) Which of the following are the objectives of the 'Sansad Adarsh Gram Yojana'?

a) Rural development is expected to be main.

b) To develop Smart Schools, Health Facilities, Pakka houses etc. in the villages.

c) Renovation of infrastructure in rural areas.

d) Every MP is expected to adopt a village in his constituency.

Which of the option(s) given above is/are incorrect?

1) Only (c) 2) (a) and (c) 3) (a), (b) and (d) 4) None of the above

6) 'gm§gX AmXe© J«m‘ ¶moOZoMr' Imbrbn¡H$s H$moUVr C{ÔîQ>ço AmhoV?
a) àm‘w»¶mZo IoS>çm§Mm {dH$mg H$aUo Ano{jV Amho.
b) IoS>çm‘Ü¶o ñ‘mQ>© emim, Amamo½¶ gmo¶r, n¸$s Kao BË¶mXrMm {dH$mg H$aUo.
c) J«m‘rU ^mJmVrb nm¶m ŷV gmo¶rMo ZyVZrH$aU H$aUo.
d) àË¶oH$ ImgXmamZo Amnë¶m ‘VXmag§KmVrb EH$ Jmd XÎmH$ KoUo.
darbn¡H$s H$moUVm n¶m©¶ MwH$sMm Amho/AmhoV?
1) ’$º$ (c) 2) (a) Am{U (c) 3) (a), (b) Am{U (d) 4) darbn¡H$s Zmhr

6) Which of the following are the objectives of the 'Sansad Adarsh Gram Yojana'?

a) Rural development is expected to be main.

b) To develop Smart Schools, Health Facilities, Pakka houses etc. in the villages.

c) Renovation of infrastructure in rural areas.

d) Every MP is expected to adopt a village in his constituency.

Which of the option(s) given above is/are incorrect?

1) Only (c) 2) (a) and (c) 3) (a), (b) and (d) 4) None of the above
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7) eaX ndma J«m‘ g‘¥Õr ¶moOZo A§VJ©V Imcrcn¡H$s H$moUË¶m H$m‘m§Zm àmYmÝ¶ XoÊ¶mV ¶oVo ?
a)$Jm¶ d åh¡g ¶m§À¶mH$[aVm n¸$m JmoR>m ~m§YUo. b)$eoirnmcZ eoS> ~m§YUo
c)$Hw$³Hw$Q>nmcZ eoS> ~m§YUo d)$ZmS>on H§$nmopñQ>¨J
n¶m©¶r CÎmao :
1) ’$º$ (a)$ 2) (b)$Am{U (c)$ 3) darcn¡H$s Zmhr 4) darcn¡H$s gd©

7) Which of the following works was given priority under Sharad Pawar Gram Samrudhi Yojana ?

(a)  Construction of permanent shed for cows and buffaloes

(b)  Construction of goat rearing sheds

(c)  Construction of poultry sheds

(d)  Nadep composting

Answer Options :

l)  Only (a) 2) (b) and (c) 3) None of the above 4) All of the above

8) J«m‘rU OrdZmoÞVr A{^¶mZ AWm©V "C‘oX" A{^¶mZmMr ‘w»¶ H$m¶©o H$moUVr ?
a) J[a~r {Z‘y©cZmMm g‘J« {dMma b)$g‘wXm¶ {dH$mg
c) emídV CnOr{dH$m {Z‘m©U H$aUo d)$~MV JQ>mÛmao {ó¶m§Mo g§KQ>Z
n¶m©¶r CÎmao :
1) (a)$’$º$ (b)$ 2) (b)$Am{U (c)$ 3) ’$º$ (a)$ 4)(a), (b), (c) Am{U (d)

8) What are the specific functions of Gramin Jivanonnati Abiyan  - 'UMED'  ?

a)  Holistic view of poverty eradication

b) Community development

c)  Create sustainable livelihood

d)  Organisation of women through self-help groups

Answer Options :

l)  (a) and (b) 2)  (b) and (c) 3)  Only (a) 4)  (a), (b), (c) and (d)

9) J«m‘{dH$mgmVrb ‘w»¶ KQ>H$ H$moUVo AmhoV?
a) n§Mm¶V amO g§ñWm§Mo gj‘rH$aU b) Xm[aÐç {Z‘y©bZ
c) ‘mZd g§gmYZ {dH$mg d) g§ñWmË‘H$ {dH$mg
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (a), (b) Am{U (c)

3) (a), (c) Am{U (d) 4) gd© n¶m©¶ ~amo~a AmhoV
9) What are the key components of Rural Development?

a) Empowerment of Panchayat Raj Institutions. b) Poverty alleviation

c) Human Resource Development d) Institutional Devlopment

Answer Options :

1) (a) and (b) 2) (a), (b) and (c)

3) (a), (c) and (d) 4) All options are correct
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10) ^maV {Z‘m©U H$m¶©H«$‘, 2005 ‘Ü¶o Imbrbn¡H$s H$moUË¶m nm¶m ŷV gw{dYm§da ^a XoÊ¶mV Ambm?
a) J«m‘rU añVo d ObqgMZ b) J«m‘rU Kao
c) J«m‘rU nmUrnwadR>m d) ehar {dÚwVrH$aU Am{U Q>o{b’$moZ
n¶m©¶r CÎmao …
1) a Am{U d 2) a, b Am{U c 3) b, c Am{U d 4) a, b, c Am{U d

10) In Bharat Nirman Programme, 2005 which of the following infrastructural facilities were given

more weightage ?

a) Rural Roads and Irrigation. b) Rural Housing.

c) Rural water supply. d) Urban Electrification and Telephones.

Answer options :

1) a and d 2) a, b and c 3) b, c and d 4) a, b, c and d

11) EH$mpË‘H$ J«m‘rU {dH$mg H$m¶©H«$‘mMr H$moUVr d¡{eîQ>ço hmoVr ?
a)$g‘Ýd¶mË‘H$ {dH$mg b)$AZoH$ ~m~tMo EH$mË‘rH$aU
c)$AZwXmZmgh H$O© d)$amoOJmamMr h‘r
n¶m©¶r CÎmao :
1) (a) Am{U (b) 2) (b) Am{U (c) 3)(a),(b) Am{U (c) 4) ¶mn¡H$s Zmhr

11) What were the features of Integrated Rural Development Programme ?

(a) Coordinating development (b)  Integration of many thinga

(c)  Loan with grantG (d)  Guarantee of employment

Answer Options :

l)  (a) and (b) 2) (b) and (c) 3)  (a), (b) and (c) 4)  None of the above

12) S>m°. E.nr.Oo. AãXþb H$bm‘ A‘¥V Amhma ¶moOZm hr Imbrbn¡H$s H$moUmgmR>r gwê$ H$aÊ¶mV Ambr?
a) PmonS>nÅ>r ‘Yrb JamoXa ‘{hbm b) A{e{jV ‘{hbm
c) Am{Xdmgr JamoXa ‘{hbm d) A{ddm{hV ‘mVm
n¶m©¶r CÎmao …
1) ’$º$ (d) 2) ’$º$ (c) 3)  ’$º$ (a) 4) darbn¡H$s gd©

12) Dr. A.P.J. Abdul Kalam Amrit Diet Scheme was launched for which of the following ?

a) Pregnant Women in slum area b) Uneducated Women

c) Pregnant tribal Women d) Unmarried mothers

Answer Options :

1) Only (d) 2) Only (c) 3) Only (a) 4) All of the above

6) H¥$fr {dH$mg
1) ...... gmbr ^maVmVrb ...... amÁ¶mVyZ noßgr H§$nZrZo Amnë¶m H$ama eoVrMr gwédmV Ho$br.

1) 1895, amOñWmZ 2) 1901, ‘hmamï´> 3) 1920, JwOamV 4) 1927, amOñWmZ
1) In the ‘Pepsi’ company started contract farming in India from the state.

1) 1895, Rajasthan 2) 1901, Maharashtra 3) 1920, Gujarat 4) 1927, Rajasthan

2) ............ amoOr ‘¥Xm Amamo½¶ n{ÌH$m ¶moOZoMm àma§̂  gwaVJS> (amOñWmZ) ¶oWo H$aÊ¶mV Amcm.
1) 19 ’o$~«wdmar 2015 2) 19 ’o$~«wdmar 2016 3) 15 Am°JñQ> 2017 4) 26 OmZodmar 2015
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2) Soil Health Card was introduced on at Suratgad (Rajasthan).

1) 198 February 2015 2) 19 February 2016 3) 15 August 2017 4) 26 January 2015

3) à‘wI AÞYmÝ¶ CËnmXH$ amÁ¶m§‘Ü¶o 2021-22 ¶m dfm©Vrb AÞYmÝ¶ CËnmXZmZwgma Imbrb amÁ¶m§Mr Ë¶m§À¶m
H«$‘dmarZwgma OwidmOwid H$am.
     amÁ¶ H«$‘dmar
a) n§Om~ i) n{hbr
b) amOñWmZ ii) Xþgar
c) ‘Ü¶ àXoe iii) {Vgar
d) CÎma àXoe iv) Mm¡Wr
n¶m©¶r CÎmao …

a b c d

1) iv iii i ii

2) ii i iv iii

3) ii iii i iv

4) iii iv ii i

3) Match the following major food grain producing states as per their ranks according to Food grain

production in the year of 2021 — 22.

       State Rank

a) Punjab i) First

b) Rajasthan ii) Second

c) Madhya Pradesh iii) Third

d) Uttar Pradesh iv) Fourth

Answer options :

a b c d

1) iv iii i ii

2) ii i iv iii

3) ii iii i iv

4) iii iv ii i

4) Imbrb KQ>H$m§À¶m ~m~VrV ‘hmamï´>mMr ^maVmer VwbZm H$ê$Z gË¶ {dYmZo AmoiIm.
a) 2019-20 ‘Ü¶o ‘hmamï´>mV ñWyb {nH$mImbrb joÌmMo à‘mU ^maVmÀ¶m ñWyb {nH$mImbrb joÌmÀ¶m 11.2% BVHo$

hmoVo.
b) 2011 À¶m OZJUZoZwgma ^maVmÀ¶m EHy$U bmoH$g§»¶oÀ¶m 7.3% bmoH$g§»¶m ‘hmamï´>mV hmoVr.
c) 2021 ‘Ü¶o ^maVmVrb EHy$U dZmImbrb joÌmÀ¶m 8% joÌ ‘hmamï´>mV Amho.
d) 2021-22 ‘Ü¶o ^maVmV {Z‘m©U hmoUmè¶m EHy$U drO{Z{‘©Vrn¡H$s 8.9% drO ‘hmamï´>mV {Z‘m©U Pmbr.
n¶m©¶r CÎmao …
1) {dYmZ a, b Am{U d 2) {dYmZ b, c Am{U d 3) {dYmZ a, c Am{U d 4) {dYmZ a, b, c Am{U d
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4) Compare the Maharashtra with India on the basis of following factors and find out the true

statements.

a) In 2019-20 the proportion of Maharashtra’s Gross cropped area was 11.2% to Indias gross

cropped area.

b) As per 2011 census, India’s 7.3% population was lives in Maharashtra.

c) In 2021, out of India’s total forest area 8% area in Maharashtra.

d) In 2021 — 22, out of India’s total electricity generation 8.9% electricity was generated in

Maharashtra.

Answer options :

1) Statement a, b and d 2) Statement b, c and d

3) Statement a, c and d 4) Statement a, b, c and d

5) Imbrb {dYmZo {dMmamV ¿¶m.
a) ^maV emgZm‘m’©$V 2005-06 ‘Ü¶o amï´>r¶ ’$bmoËnmXZ A{^¶mZmMr gwédmV H$aÊ¶mV Ambr.
b) 2015-16 nmgyZ ‘hmamï´>mVrb 34 {Oëøm§V EH$mpË‘H$ ’$bmoËnmXZ {dH$mg A{^¶mZ am~{dÊ¶mV ¶oV Amho.
n¶m©¶r CÎmao …
1) XmoÝhr a Am{U b ¶mo½¶ AmhoV 2) ’$º$ b ¶mo½¶ Amho
3) ’$º$ a ¶mo½¶ Amho 4) darbn¡H$s H$moUVohr ¶mo½¶ Zmhr

5) Consider the following statement.

a) National Horticulture Mission was launched by Government of India in 2005 — 06.

b) From 2015 — 16, the mission for Integrated Development of Horticulture is implemented in

34 districts of Maharashtra.

Answer options :

1) Both a and b are correct 2) Only b is correct

3) Only a is correct 4) None of the above are correct

6) 2021 À¶m H¥${f AhdmcmZwgma ^maVmMo {Zìdi cmJdS> joÌ ............ {‘{c`Z ho³Q>a Zm|X{dco Amho.
1) 239.4 2) 139.4 3) 130.00 4) 102.7

6) Reports on Agriculture in 2021 mentioned India’s Net SOWN area is million Hectares.

1) 239.4 2) 139.4 3) 130.00 4) 102.7

7) Imbrb {dYmZo {dMmamV ¿¶m.
a) 2016-17 ‘Ü¶o Vm§XimMr CËnmXH$Vm Jìhmnojm OmñV hmoVr.
b) 2016-17 ‘Ü¶o Vob{~¶m§Mr CËnmXH$Vm S>mitnojm OmñV hmoVr.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶  Amho/AmhoV?
1) Ho$di (a) ~amo~a Amho 2) Ho$di (b) ~amo~a Amho
3) (a) Am{U (b) ~amo~a AmhoV 4) (a) Am{U (b) MyH$ AmhoV

7) Consider the following statements :

a) In 2016-17 productivity of Rice was more than Wheat.

b) In 2016-17 productivity of oil seeds was more than pulses.

Which of the statement/s given above is/are correct ?

1) Only (a) is correct 2) Only (b) is correct

3) (a) and (b) are correct 4) (a) and (b) are incorrect
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8) Imcrc {dYmZo {dMmamV ¿¶m :
a) H¥$fr JUZm 2015-16 Zwgma ‘hmamï´> amÁ¶mMo gamgar d{hVr joÌ 1.34 ho³Q>a hmoVo.
b) ‘hmamï´>mV 2019 -20 ‘Ü¶o ’$cmoËnmXZ {nH$mImcrc joÌ 19.20 cmI ho³Q>a hmoVo.
darcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/V ?
1) (a) ’$º$ 2) (b) ’$º$
3) XmoÝhr (a) Am{U  (b)  ~amo~a AmhoV 4) XmoÝhr (a) Am{U (b) ~amo~a ZmhrV

8) Consider the following statements :

a) According to Agriculture census 2015-16 Maharashtra state has 1.34 hectares average

operational land holding.

b) In the year 2019-20 Maharashtra has 19.20 lakhs hectares under Horticulture.

Which of the statement given above is/are correct ?

1) (a) only 2) (b) only

3) Both (a) and (b) are correct 4) Neither (a) nor (b) are incorrect

9) gZ 2022-23 ‘Ü¶o ({S>g|~a 2022 n¶ªV) ̂ maVmVrb eoVrÀ¶m ¶m§{ÌH$sH$aUm~m~V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a
Amho?
a) ^maVmV EHy$U Q´>°³Q>a {dH«$s g§»¶m 835000 BVH$s Amho.
b) ^maVmV EHy$U Q´>°³Q>a {dH«$s g§»¶m gZ 2020-21 nojm gZ 2022-23 ‘Ü¶o OmñV Amho.
c) ^maVmVrb BVa amÁ¶m§Mm {dMma H$aVm CÎma àXoe amÁ¶mV EHy$U Q´>°³Q>a {dH«$s gdm©V OmñV Amho.
n¶m©¶r CÎmao …
1) a Am{U b 2) a Am{U c 3) c Am{U d 4) a Am{U d

9) Which of the following statement are true about mechanization of Indian agriculture in the year

2022 — 23 (up to December 2022) ?

a) The total number of tractor sale in India is 835000.

b) The total number of tractor sale in India is higher in 2022 — 23 than in 2020 — 21,

c) The total number of tractor sale in the State of Uttar Pradesh is highest as compared to other

States in India.

Answer options :

1) a and b 2) a and c 3) c and d 4) a and d

10) Imcrcn¡H$s H$moUVo {dYmZ ~amo~a Amho ?
a) nmMì¶m n§Mdm{f©H$ ¶moOZonmgyZ ’$cmoÚmZ ì¶dgm¶mH$S>o gaH$ma {deof cj XoV Amho.
b) ghmì¶m n§Mdm{f©H$ ¶moOZonmgyZ ’$cmoÚmZ ì¶dgm¶mH$S>o gaH$ma {deof cj XoV Amho.
n¶m©¶r CÎmao :
¶mo½¶ n¶m©¶ {ZdS>m :
1) (a) ~amo~a Amho 2) (b) ~amo~a Amho
3) (a) Am{U (b) ~amo~a Amho 4) darcn¡H$s H$moUVohr ~amo~a Zmhr

10) Which of the following statement is correct ?

a) Since the fifth five year plan, the government is paying special attention to Horticulture.

b) Since the sixth five year plan, the government is paying special attention to the Horticulture.

Answer options :

1) (a) is correct 2) (b) is correct

3) (a) and (b) are correct 4) None of above are correct
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11) Imbrb {dYmZo {dMmamV ¿¶m …
a) 2020-21 AIoa ‘hmamï´>mV 387 H¥$fr CËnÞ ~mOma g{‘Ë¶m d 723 Cn~mOma g{‘Ë¶m ñWmnZ Pmë¶m AmhoV.
b) OmZodmar 2022 n¶ªV 1400 WoQ> nUZ nadmZo {Xbo.
n¶m©¶r CÎmao …
1) Only (a) is incorrect 2) Both (a) and (b) are incorrect

3) Only (b) is incorrect 4) Both (a) and (b) are correct

11) Consider the following statements :

a) Upto 2020-21, 387 Agricultural Produce Market Committees and 723 Sub-Market Committees

have been established in Maharashtra.

b) Number of direct Marketing Licenses issued upto January, 2020 were 1400.

Answer Options :

1) ’$º$ (a) MyH$ Amho 2) XmoÝhr (a) Am{U (b) MyH$ AmhoV
3) ’$º$ (b) MyH$ Amho 4) XmoÝhr (a) Am{U (b) ¶mo½¶ AmhoV

12) Imcrc {dYmZo {dMmamV ¿¶m :
A. ^maVmV E‘. Eg. ñdm‘rZmWZ ho "h[aV H«$m§VrMo" OZH$ åhUyZ AmoiIco OmVmV.
~. ^maVmV {ZanmI VyQ>oO ho "{Zir H«$m§VrMo" OZH$ åhUyZ AmoiIco OmVmV.
H$. ^maVmV g°‘ {nÌmoS>m ho "gwdU© H«$m§VrMo" OZH$ åhUyZ AmoiIco OmVmV.
S>. ^maVmV {hamcmc Mm¡Yar Am{U S>m°. AéU H¥¥$îUZ ho "{ndir H«$m§VrMo" OZH$ åhUyZ AmoiIco OmVmV.
darcn¡H$s H$moUVr {dYmZo/Zo ~amo~a Amho/V ?
1) Ho$di A 2) A Am{U ~ 3) A, ~ Am{U S> 4) darc gd©

12) Consider the following statements :

A) M. S. Swaminathan is known as the father of the ‘Green Revolution’ in India.

B) Nirpakh Tutej is known as the father of ‘Blue Revolution’ in India.

C) Sam Pitroda is known as the father of ‘Golden Revolution’ in India.

D) Hiralal Chaudhari and Dr. Arun Krishnan are known as the father of ‘Yellow Revolution’ in

India.

Which of the statements given above is/are correct ?

1) Only A 2) A and B 3) A, B and D 4) All of the above

13) H$moUr åhQ>bo H$s, n§Om~‘Yrb 'h[aVH«$m§Vr' hm H$mhr M‘ËH$ma Zmhr, gmR>À¶m XeH$mÀ¶m ‘Ü¶mV Ë¶mÀ¶m ¶emgmR>r
Imbrb nyd©-Amdí¶H$Vm ApñVËdmV Agë¶m‘wioM Vo KS>bo …
a) O‘rZ EH$ÌrH$aU Am{U g‘VbrH$aU.
b) ‘mbH$sMr eoVr Á¶m‘wio O{‘ZrV XrK©H$mcrZ ^mJrXmar hmoVo.
c) J«m‘rU g§gyMZ Am{U
d) J«m‘rU {dÚwVrH$aU
n¶m©¶r CÎmao …
1) Zm°‘©Z ~moacm°J 2) E‘. Eg. ñdm{‘ZmWZ 3) hþZ‘§Wæ¶m amd 4) bmb ~hmXya emór
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13) Who stated that, the ‘Green Revolution’ in Punjab is not a miracle. It happened only because the

following pre-requisiter for its success existed in the mid-sixties :

a) Land consolidation and levelling

b) Owner cultivation resulting in a long-term stake in land

c) Rural Communication and

d) Rural electrification

Answer Options :

1) Norman Borlaug 2) M.S. Swaminathan 3) Hanumantha Rao 4) Lal Bahadur Shastri

14) Imbrbn¡H$s H$moUË¶m Am{Xdmgr {Oëøm§‘Ü¶o ''nag~mJ bmJdS> àmoËgmhZ ¶moOZm'' am~{dÊ¶mV ¶oV Amho?
a) nwUo b) gm§Jbr c) Zm{eH$ d) A‘amdVr
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (a), (b) Am{U (d) 3) (a), (c) Am{U (d) 4) darbn¡H$s gd©

14) Which of the following Tribal districts are implementing the "Promotion of Kitchen Garden

Scheme" ?

a) Pune b) Sangli c) Nashik d) Amravati

Answer Options :

1) (a), (b) and (c) 2) (a), (b) and (d) 3) (a), (c) and (d) 4) All of the above

15) Ì¡dm{f©H$ gamgar (2018-19 Vo 2020-21) Xaå¶mZ EHy$U V¥UYmÝ¶m§À¶m à{V ho³Q>a CËnÞmÀ¶m ({H$bmoJ«°‘) g§X^m©V
Imbrb amÁ¶m§Mr MT>Ë¶m H«$‘mZo ‘m§S>Ur H$am.
a) h[a¶mUm b) Am§Y«àXoe c) n§Om~ d) ‘hmamï´>
n¶m©¶r CÎmao …
1) a, b, c, d 2) b, c, d, a 3) d, a, b, c 4) d, b, a, c

15) Arrange the following states in ascending order in context of yield Per hectare (Kilogram) of

total Cereals during triennial average (2018 — 19 to 2020 — 21) :

a) Haryana b) Andhra Pradesh c) Punjab d) Maharashtra

Answer options :

1) a, b, c, d 2) b, c, d, a 3) d, a, b, c 4) d, b, a, c

16) JS>{Mamobr {OëømVrb bmoH$m§Mo XaS>moB© CËnÞ dmT>{dÊ¶mgmR>r ‘hmamï´> ~m§~y {dH$mg ‘§S>imZo ...... àH$ënmÀ¶m nwT>mH$mamZo
EH$ AmXe© KmbyZ {Xbm Amho.
1) JS>{Mamobr V§~mIy àH$ën 2) JS>{Mamobr nmnS> àH$ën
3) JS>{Mamobr AJa~Îmr àH$ën 4) JS>{Mamobr gm~U àH$ën

16) The Maharashtra Bamboo Development Board has set an example through the initiative of the

______ to improve the per capita income of the people in Gadchiroli district.

1) Gadchiroli Tobacco Project 2) Gadchiroli Papad Project

3) Gadchiroli Agarbatti Project 4) Gadchiroli Soap Project
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17) OmoS>çm Owidm :
  H¥$fr H«$m§Vr    H¥$fr CËnmXZ
a) gwdU© H«$m§Vr i) {nH$m§Mo CËnmXZ
b) {ndir H«$m§Vr ii) ‘mgo CËnmXZ
c) {Zir H«$m§Vr iii) Voc{~¶m§Mo CËnmXZ
a) h[aV H«$m§Vr iv) ’$cmoËnmXZ
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iv) (i) (ii) (iii)

2) (i) (iii) (iv) (i)

3) (iv) (iii) (ii) (i)

4) (iii) (iv) (ii) (i)

17) Match the following :

Agricultural Revolution Agricultural Production

a) Golden Revolution i) Crops Production

b) Yellow Revolution ii) Fish Production

c) Blue Revolution iii) Oil seeds Production

d) Green Revolution iv) Horticulture

Answer Options :

(a) (b) (c) (d)

1) (iv) (i) (ii) (iii)

2) (i) (iii) (iv) (i)

3) (iv) (iii) (ii) (i)

4) (iii) (iv) (ii) (i)

18) Imbrbn¡H$s H$moUË¶m ZmdmZo 1 E{àb 2015 Vo 31 ‘mM© 2019 n¶ªVÀ¶m {nH$ H$Om©Mr ‘m’$sMr ¶moOZm AmoiIbr OmVo?
a) N>ÌnVr {edmOr ‘hmamO ñdm{^‘mZr eoVH$ar H$O© ‘wº$s ¶moOZm
b) ‘hmË‘m Jm§Yr eoVH$ar H$O© ‘wº$s ¶moOZm
c) Hw$gw‘ ¶moOZm
d) ‘hmË‘m Á¶moVramd ’w$bo eoVH$ar H$O© ‘wº$s ¶moOZm
darbn¡H$s H$moUVm n¶m©¶ ~amo~a Amho?
1) (a) 2) (c) 3) (d) 4) (b)

18) The scheme of crop loan waiver from 1st April, 2015 to 31st March 2019 is known as......

a) Chhatrapati Shivaji Maharaj Swabhimani Farmer Debt Relief Scheme.

b) Mahatma Gandhi Farmer's loan waiver scheme

c) KUSUM Yojana

d) Mahatma Jyotirao Phule Shetkari Karj Mukti Yojana

Which of the option given above is correct?

1) (a) 2) (c) 3) (d) 4) (b)
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19) A{bH$S>oM, H¥$fr Am{U eoVH$ar H$ë¶mU ‘§Ìmb¶mZo VéU ì¶mdgm{¶H$m§gmR>r B§Q>Z©ern àmoJ«°‘ ¶moOZm (SIP) gwê$ Ho$br
Amho. hr ¶moOZm ...... åhUyZ AmoiIbr OmVo.
1) ¶wdm ghH$ma 2) ¶wdm {‘Ì 3) ghH$ma {‘Ì 4) darbn¡H$s H$mhrhr Zmhr

19) Recently, the Ministry of Agriculture and Farmers Welfare has launched a Scheme on Internship

Programme (SIP) for young professionals. The Scheme is known as .......

1) Yuva Sahakar 2) Yuva Mitra 3) Sahakar Mitra 4) None of the above

20) ""eoVmVrc B‘maV"" ¶m g§koMm AW© AmH$maUr Ho$coë¶m qH$dm YmaU Ho$coë¶m O{‘Zrda ........... ¶m CÔoemgmR>r
C^macocr aMZm hmo¶.
A. eoVrMr AdOmao, IV qH$dm d¡aU gmR>{dÊ¶mgmR>r
~. eoVrMo CËnÞ gmR>{dÊ¶mgmR>r
H$. Jwam-T>moam§Zm {Zdmam {‘iÊ¶mgmR>r
S>. O‘rZ YmaH$m§À¶m Hw$Q>§w~mVrc ì¶qº$À¶m, godH$m§À¶m qH$dm Hw$im§À¶m {ZdmgmgmR>r
¶mo½¶ n¶m©¶ {ZdS>m.
1) A, ~ Am{U S> ¶mo½¶ AmhoV 2) A, ~ Am{U H$ ¶mo½¶ AmhoV
3) gd© ¶mo½¶ AmhoV 4) ’$º$ A ¶mo½¶ Amho

20) "Farm Building" means a structure erected on Land assessed or held for the purpose

a. for the storage of agricultural implements, manure or fodder

b. for the storage of agricultural produce

c. for sheltering cattles

d. for residence of members of the family, servants or tenants of the land holder

Choose the correct option.

1) a, b and d are correct 2) a, b and c are correct

3) All are correct 4) Only a is correct

21) ^maVr¶ H¥$fr g§emoYZ n[afXo~m~V Imbrbn¡H$s H$moUVr {dYmZ/Zo ~amo~a Amho/V?
a) H|$Ðr¶ H¥$fr ‘§Ìr ¶m g§ñWoMo AÜ¶j åhUyZ H$m¶© H$aVmV.
b) hr EH$ ñdm¶Îm g§ñWm Amho.
c) ho H¥$fr g§emoYZ d {ejU g§ñWm§Mo OJmVrb gdm©V ‘moR>o Omio Agbobr g§ñWm Amho.
d) hr g§ñWm WoQ> H|$Ð gaH$maÀ¶m {Z¶§ÌUmImbr Amho.
n¶m©¶r CÎmao …
1) {dYmZo a d b ~amo~a AmhoV 2) {dYmZo b d c ~amo~a AmhoV
3) a, b, c {dYmZo ~amo~a AmhoV 4) gd© {dYmZo ~amo~a AmhoV

21) Which of the following statements is/are correct regarding Indian Council of Agriculture Research

(ICAR) ?

a) Union Minister of Agriculture serves as its president.

b) Itis Autonomous Body.

c) Itis the largest network of agricultural research and education institutes in the world.

d) Itis directly under the control of Union Government.

Answer options :

1) Statements a and b are correct 2) Statements b and c are correct

3) a, b, c statements are correct 4) All statements are correct
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22) 'Am°naoeZ âbS>' åhUyZXoIrb AmoiIbo OmVo …
a) J«o H«$m§Vr b) Ydb H«$m§Vr c) {ndir H«$m§Vr d) h[aV H«$m§Vr
n¶m©¶r CÎmao …
1) (a) Am{U (b)  n¶m©¶ ¶mo½¶ AmhoV. 2) (c) Am{U (d) n¶m©¶ ¶mo½¶ AmhoV.
3) Ho$db (b) hm n¶m©¶ ¶mo½¶ Amho. 4) Ho$di (d) hm n¶m©¶ ¶mo½¶ Amho.

22) ‘Operation Flood’ is also known as :

a) Grey Revolution b) White Revolution c) Yellow Revolution d) Green Revolution

Answer Options

1) (a) and (b) alternatives are correct 2) (c) and (d) alternatives are correct

3) Only (b) alternative is correct 4) Only (d) alternative is correct

23) ^maVmV ¶m joÌmV gwYmaUm H$aÊ¶mH$[aVm h[aV H«$m§VrMr gwédmV H$aÊ¶mV Ambr …
a) dma§dma nS>Umam XwîH$mi b) {dÎmmMr H$‘VaVm
c) Cƒ CËnmXH$Vm d) ŷH$ Am{U Xm[aÐç {Z‘y©bZ
n¶m©¶r CÎmao …
1) (a) Am{U (b) n¶m©¶ ¶mo½¶ AmhoV. 2) (c) Am{U (d) n¶m©¶ ¶mo½¶ AmhoV.
3) (b), (c) Am{U (d) n¶m©¶ ¶mo½¶ AmhoV. 4) (a), (b) Am{U (d) n¶m©¶ ¶mo½¶ AmhoV.

23) The ‘Green Revolution’ was launched in India as to improve in the fields of :

a) Frequent famines b) Lack of finance

c) High productivity d) To alleviate hunger and poverty

Answer Options :

1) (a) and (c) alternatives are correct 2) (c) and (d) alternatives are correct

3) (b), (c) and (d) alternatives are correct 4) (a), (b) and (d) alternatives are correct

24) nwT>rbn¡H$s H$moUVo EH$ 'h[aVH«$m§Vr'er g§~§{YV Zmhr?
a) ZdrZ H¥$fr YmoaU b) H¥$fr dZrH$aU V§ÌkmZ
c) AmYw{ZH$ H¥$fr V§ÌkmZ d) {~¶mUo-IVo-nmUr V§ÌkmZ
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b) 3) ’$º$ (c) Am{U  (4) 4) ’$º$ (d)

24) Which one of the following is not related to the ‘Green Revolution’ ?

a) New Agricultural strategy b) Agroforestry technology

c) Modern Agricultural technology d) Seed-fertiliser-water technology

Answer Options :

1) Only (a) and (b) 2) Only (b) 3) Only (c) and (d) 4) Only (d)

25) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/V?
a) 2016 À¶m Iarn h§Jm‘mV àYmZ‘§Ìr ’$gb {~‘m ¶moOZm gwê$ H$aÊ¶mV Ambr.
b) àYmZ‘§Ìr ’$gb {~‘m ¶moOZoV ’$º$ AÞ Am{U Vob{~¶m {nH$m§Mm g‘mdoe hmoVmo.
n¶m©¶r CÎmao …
1) Ho$di a ~amo~a Amho 2) Ho$di b ~amo~a Amho
3) XmoÝhr a Am{U b ~amo~a Amho 4) darbn¡H$s H$moUVohr ~amo~a Zmhr
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25) Which of the following statement/s is/are correct ?

a) Pradhan Mantri Fasal Bima Yojana was launched in the 2016 Kharif season.

b) Pradhan Mantri Fasal Bima Yojana covered only food and oil seeds crops.

Answer options :

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) None of the above are correct

26) ''‘w»¶‘§Ìr gm¡a H¥$fr n§n ¶moOZoÀ¶m'' ~m~VrV Imbrbn¡H$s H$moUVo {dYmZ/{dYmZo gË¶ AmhoV?
a) ‘hmamï´> gaH$maZo hr ¶moOZm 2021-22 ‘Ü¶o gwê$ Ho$br.
b) ¶m ¶moOZoMm ‘w»¶ CÔoe-H¥$fr n§nmgmR>r {Xdgm drO CnbãY H$ê$Z XoUo d àXÿfU H$‘r H$aÊ¶mgmR>r {S>Pobdarb

n§nmEodOr gm¡a n§nmMm dmna H$aUo hm Amho.
c) ¶m ¶moOZoMm ’$m¶Xm KoÊ¶mgmR>r AZwgy{MV OmVr d AZwgy{MV O‘mVrVrb bmoH$m§Zr EHy$U IMm©À¶m 10% a¸$‘ ñdV…

^aUo Amdí¶H$ Amho.
d) hr ¶moOZm ‘hmamï´> amÁ¶ {dÚwV {dVaU H§$nZr {b{‘Q>oS> ‘m’©$V am~{dbr OmVo.
n¶m©¶r CÎmao …
1) {dYmZ a Am{U b 2) {dYmZ b Am{U d
3) {dYmZ b, c Am{U d 4) {dYmZ a, b, c Am{U d

26) In case of "Mukhyamantri Solar Krishi Pump Yojana" which of the following statement(s) is/are correct?

a) Government of Maharashtra has launched this scheme in 2021-22.

b) The main objectives of this scheme is to make available the electricity to agricultural pumps

during day and to decrease the pollution by using solar pump instead of diesel pumps.

c) For taking the benefit of this scheme S.C. and S.T. persons must pay 10% amount of total cost.

d) This scheme is implemented by Maharashtra State Electricity Distribution Company Limited.

Answer options :

1) Statement a and b 2) Statement b and d

3) Statement b, c and d 4) Statement a, b,c and d

27) Imcrcn¡H$s H$moUVo {dYmZ ~amo~a Amho  ?
a) ‘hmamï´>mVrc eoVr hr {ZgJm©da OmñV Adc§~yZ Amho.
b) Anwao ^m§S>dc hr ‘hmamï´>mVrc eoVr CËnmXH$Vm H$‘r AgÊ¶mMo H$maU Amho.
n¶m©¶r CÎmao :
1) (a) ~amo~a Amho 2) (b) ~amo~a Amho
3) (a) Am{U (b) ~amo~a Amho 4) darcn¡H$s H$moUVohr ~amo~a Zmhr

27) Which of the following statement is correct ?

a) Agriculture in Maharashtra is highly depending on nature.

b) Inadequate capital is the reason of less agricultural productivity in Maharashtra.

Answer options :

1) (a) is correct 2) (b) is correct

3) (a) and (b) are correct 4) None of above are correct
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28) Imcrcn¡H$s H$moUVo g|{Ð¶ eoVrMo ’$m¶Xo AmhoV ?
a) eoVrVrc CËnmXH$Vm dmT>Vo. b) n¶m©daU g§VwcZ {Z‘m©U H$aUo
n¶m©¶r CÎmao :
1) (a) ~amo~a Amho 2) (b) ~amo~a Amho
3) (a) Am{U (b) ~amo~a Amho 4) darcn¡H$s H$moUVohr Zmhr

28) Which of the following are benefits of organic farming ?

a) Increases agricultural productivity b) Creating environmental balance

Answer options :

1) (a) is correct 2) (b) is correct

3) (a) and (b) are correct 4) None of above

29) H|$Ð gaH$maZo {~¶mUo ~±Ho$Mr ñWmnZm ...... gmR>r Ho$br.
a) AmH$pñ‘H$ JaOm§Mr nyV©Vm H$aÊ¶mgmR>r {~`mUo CnbãY H$aUo.
b) {~`mÊ`m§Mo CËnmXZ Am{U {dVaU H$aÊ¶mgmR>r ‘yb ŷV gw{dYm {dH$grV H$aUo.
c) {~`mUo IaoXrgmR>r H$Om©Mm nwadR>m H$aUo
d) eoVH$è¶m§Zm ZdrZ dmUm§À¶m {~¶mÊ¶m§Mm nwadR>m H$aUo
n¶m©¶r CÎmao
1) (a) Am{U (c) hr {dYmZo ~amo~a AmhoV. 2) ’$º$ (d) ho {dYmZ ~amo~a Amho.
3) (a) Am{U (b) hr {dYmZo ~amo~a AmhoV. 4) (c) Am{U (d) hr {dYmZo ~amo~a AmhoV.

29) The Central Government has set up a seed Bank

a) to make available seeds for meeting contingent requirement

b) to develop infrastructure for producing and distributing seeds

c) to provide loan to purchase seeds

d) to provide the new varieties of seeds to the farmers

Answer options :

1) (a) and (c) these statements are correct 2) Only (d) the statement is correct

3) (a) and (b) these statements are correct 4) (c) and (d) these statements are correct

30) Imbrb {dYmZo {dMmamV ¿¶m …
a) ^maVmV H¥$fr ¶m§{ÌH$sH$aUmÀ¶m gd© g‘mdoeH$ dmT>rbm MmbZm XoÊ¶mgmR>r H¥$fr ¶m§{ÌH$sH$aU CnA{^¶mZ gZ

2014-15 ‘Ü¶o gwê$ H$aÊ¶mV Ambo.
b) H¥$fr ¶m§{ÌH$sH$aU CnA{̂ ¶mZ A§VJ©V H¥$fr ¶§Ì gm‘wJ«rMo à{ejU Am{U àmË¶{jH$ XoÊ¶mgmR>r amÁ¶ gaH$mam§Zm ‘XV {Xbr OmVo.
n¶m©¶r CÎmao …
1) Ho$di (a) ¶mo½¶ Amho 2) XmoÝhr (a) Am{U (b) ¶mo½¶ AmhoV
3) Ho$di (b) ¶mo½¶ Amho 4) XmoÝhr (a) Am{U (b) A¶mo½¶ AmhoV

30) Consider the following statements :

a) To promote an inclusive growth of farm mechanization in India, a Sub-Mission on Agricultural

Mechanization was launched in the year 2014-15.

b) Under the Sub-Mission on Agricultural Mechanization, assistance is given to state Governments

for providing training and demonstration of agricultural machinery.

Answer Options :

1) Only (a) is correct 2) Both (a) and (b) are correct

3) Only (b) is correct 4) Both (a) and (b) are incorrect
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31) H|$ÐemgZmZo E‘ {H$gmZ (MKisan Portal) nmoQ>©c {dH${gV Ho$co H$maU :
a) eoVH$è¶m§Zm hdm‘mZ d nmdgmMm A§XmO ¶oÊ¶mH$[aVm.
b) nrH$ V§ÌkmZmÀ¶m ‘m{hVrgmR>r
c) ~mOma^md g‘OÊ¶mgmR>r
d) newg§dY©Z, ‘Ëñ¶ì¶dgm¶ BË¶mXrMr ‘m{hVr {‘i{dÊ¶mgmR>r.
darcn¡H$s H$moUVo {dYmZo/{dYmZ ~amo~a Amho/AmhoV ?
1) Ho$di (a) 2) (b) Am{U (c) 3) (a),(b),(c) Am{U (d) 4) darcn¡H$s Zmhr

31) Because the central government developed the MKisan Portal :

a) To predict weather and rain forecast for farmers.

b) For information on crop technology

c) To understand market prices.

d) To get information of animal husbandry, fisheries etc.

Which of the statement(s) given above is/are correct?

1) Only  (a) 2) (b) and (c) 3) (a), (b), (c) and (d) 4) None of the above

7) J«m‘rU ghH$mar ¶§ÌUm
1) ‘hmamï´>mVrb ghH$mar H$m¶Úm§~m~V Imbrb {dYmZo {dMmamV ¿¶m d ¶mo½¶ n¶m©¶ {ZdS>m.

a) ‘hmamï´> gmdH$mar ({Z¶‘Z) H$m¶Xm 2013. b) ‘hmamï´> ghH$mar Xþ½Y g§ñWm H$m¶Xm 1960.
n¶m©¶r CÎmao …
1) ’$º$ a ~amo~a 2) ’$º$ b ~amo~a
3) a Am{U b XmoÝhr ~amo~a 4) a Am{U b XmoÝhr ~amo~a Zmhr

1) Consider the following statements about the Cooperative Acts in Maharashtra and choose the

correct option.

a) Maharashtra Money-lending (Regulation) Act, 20138.

b) The Maharashtra Co-operative Dairy Societies Act, 1960.

Answer options :

1) Only a is correct 2) Only b is correct

3) Botha and b are correct 4) Neither a nor b is correct

2) ghH$mar g§ñWm§À¶m {Z~§YH$mÀ¶m ~m~VrV Imbrbn¡H$s gË¶ {dYmZo AmoiIm.
a) ghH$ma {Z~§YH$mÀ¶m H$m¶m©Mr ì¶már dmT>ë¶m‘wio OyZ 1991 nmgyZ ghH$ma {Z~§YH$mMo nXZm‘ ghH$mar g§ñWm

Am¶wº$ d {Z~§YH$ Ago {dñVmaÊ¶mV Ambo.
b) ‘hmamï´>mVrb gd© ghH$mar g§ñWmda ghH$ma Am¶wº$ d {Z~§YH$ ‘hmamï´> amÁ¶, nwUo ¶m§Mo {Z¶§ÌU AgVo.
c) ghH$ma Am¶wº$ d {Z~§YH$mMr Zo‘UyH$ H|$Ð gaH$maÛmao Ho$br OmVo.
d) ‘hmamï´>mV EHy$U 9 {d^mJr¶ gh{Z~§YH$ {Z¶wº$ Ho$bo OmVmV.
n¶m©¶r CÎmao …
1) {dYmZ a Am{U d 2) {dYmZ b, c Am{U d 3) {dYmZ b Am{U d 4) {dYmZ a, b, c Am{U d
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2) Which of the following statements are correct in case of registrar of co-operative societies ?

a) Due to increase in the duties of co-operative registrar the designation of co-operative registrar

was extended as commissioner and registrar of co-operative societies from June, 1991.

b) All co-operative societies in Maharashtra comes under the control of state commissioner and

registrar of co-operative, Maharashtra state, Pune.

c) Co-operative commissioner and registrar is appointed by central government.

d) In Maharashtra total 9 divisional joint registrar are appointed.

Answer options :

1) Statement a and d 2) Statement b, c and d

3) Statement b and d 4) Statement a, b, c and d

3) Imbrbn¡H$s {dYmZo {dMmamV ¿¶m d ¶mo½¶ n¶m©¶ {ZdS>m…
a) {X. 31 ‘mM© 2022 amoOr ‘hmamï´>mV 175 Zm|XUrH¥$V ghH$mar gmIa H$maImZo hmoVo.
b) {X. 31 ‘mM© 2022 amoOr ‘hmamï´>mV 20,897 àmW{‘H$ H¥$fr nV nwadR>m ghH$mar g§ñWm hmoË¶m.
n¶m©¶r CÎmao …
1) Ho$di a ¶mo½¶ Amho 2) Ho$di b ¶mo½¶ Amho
3) XmoÝhr a Am{U b ¶mo½¶ AmhoV 4) darbn¡H$s H$moUVohr ¶mo½¶ Zmhr

3) Consider the following statements and choose correct option.

a) As on 31 March 2022 there were 175 registered co-operative sugar factories in the Maharashtra.

b) As on 31 March 2022 there were 20,897 primary agricultural co-operative credit societies in

the Maharashtra.

Answer options :

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) None of the above are correct

4) Imcrcn¡H$s H$moUVo/H$moUVr {dYmZ/Zo ~amo~a Zmhr/V?
a) J«m‘rU ghH$mar g§ñWm H$Om©gh H¥$fr CËnmXZ nwadR>m H$aVmV.
b) J«m‘rU ghH$mar g§ñWm§‘wio ^maV OJmVrc gdm}ƒ Xþ½Y CËnmXH$ Xoe ~Zcm.
c) J«m‘rU ghH$mar g§ñWm§Mm CÔoe ’$º$ Am{W©H$ {dH$mg Amho.
n¶m©¶r CÎmao :>
1) ’$º$ (a) 2) ’$º$ (c) 3) (a) ’$º$ (c) 4) ’$º$ (b) Am{U (c)

4) Which of the following statement/s is/are not correct?

a) Rural Co-operative societies provide agricultural products with loans.

b) India becomes the world's largest milk producing country due to rural co-operative societies.

c) The purpose of rural Co-operative societies is only economic development.

Answer Options :

1) Only (a) 2) Only (c) 3) (a) and (c) 4) (b) and (c)
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5) à‘wI Ádmar CËnmXH$ amÁ¶m§‘Ü¶o 2021-22 ¶m dfmªVrb Ádmar CËnmXH$Vm (Xa ho³Q>ar {H$.J«°. ‘Ü¶o) Zwgma Imbrb
amÁ¶m§Mr Ë¶m§À¶m H«$‘dmarZwgma OmoS>çm bmdm.
  amÁ¶ H«$‘dmar
a) CÎma àXoe i) n{hbr
b) Vob§JUm ii) Xþgar
c) ‘Ü¶ àXoe iii) {Vgar
d) Am§Y« àXoe iv) Mm¡Wr
n¶m©¶r CÎmao …

a b c d
1) iv iii i ii
2) ii i iv iii
3) ii iii i iv

4) iii iv ii i

5) Match the following major Jowar producing states as per their ranks according to Jowar

productivity (in kg. per hectare) during the year 2021 — 22.

       States Rank

a) Uttar Pradesh i) First

b) Telangana ii) Second

c) Madhya Pradesh iii) Third

d) Andhra Pradesh iv) Fourth

Answer options :

a b c d
1) iv iii i ii
2) ii i iv iii
3) ii iii i iv

4) iii iv ii i

6) Jmonmb aËZ nwañH$ma ...... gmR>r {Xbm OmVmo.
a) gdm}Îm‘ E Am¶ V§Ìk b) gdm}Îm‘ S>oAar eoVH$ar
c) gdm}Îm‘ XÿY CËnmXH$ H§$nZr d) gdm}Îm‘ ghH$mar S>oAar
n¶m©¶r CÎmao …
1) a, b Am{U d 2) b, c Am{U d 3) a Am{U b 4) darbn¡H$s gd©

6) Gopal Ratna Award is given for ______

a) Best AI technician. b) Best dairy Farmer.

c) Best Milk Produce Company. d) Best Dairy Cooperative.

Answer options :

1) a, b and d 2) b, c and d 3) a and b 4) All of the above

7) ...... ¶oWo ghH$mar ì¶dñWmnZmÀ¶m àmXo{eH$ g§ñWm pñWV AmhoV.
a) nwUo b) nmQ>Um c) ‘§w~B© d) ~§Jiwê$
n¶m©¶r CÎmao …
1) a Am{U b 2) b Am{U d 3) a Am{U c 4) a Am{U d

7) Regional Institutes of co-operative management are located at

a) Pune b) Patna c) Mumbai d) Bengaluru

Answer options :

1) a and b 2) b and d 3) a and c 4) a and d
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8) ghH$mar {ejU Am{U à{ejU XoUmè¶m Imbrbn¡H$s H$moUË¶m g§ñWm§Mr XrK©ê$no ~amo~a AmhoV?
a) VAMNICOM - Vaikunth Mehta National Institute of co-operative Management.

b) NCCIT — National Council of Co-operative Institutes.

c) PDVVPICOM — Padmbhushan Dr. Vitthalrao Vikhe Patil Institute of Co-operative Management.

n¶m©¶r CÎmao …
1) a, b Am{U c 2) a Am{U c 3) b Am{U c 4) ’$º$ a

8) Which of the following Co-operative education and training institution’s full forms are correct ?

a) VAMNICOM - Vaikunth Mehta National Institute of co-operative Management.

b) NCCIT — National Council of Co-operative Institutes.

c) PDVVPICOM — Padmbhushan Dr. Vitthalrao Vikhe Patil Institute of Co-operative Management.

Answer options :

1) a, b and c 2) a and c 3) b and c 4) Only a

9) 1995 ‘Ü¶o ‘±MoñQ>a ¶oWo Pmboë¶m Am§Vaamï´>r¶ ghH$mar g§KQ>ZoÀ¶m n[afXoV Imbrbn¡H$s H$moUVr ghH$mamMr VÎdo
gwM{dbr hmoVr?
a) ghH$mam§VJ©V ghH$ma b) g‘mOm~ÔbMo H$V©ì¶
c) amOH$s¶ Am{U Ym{‘©H$ VQ>ñWVm d) amoIrMo ì¶dhma
n¶m©¶r CÎmao …
1) a Am{U b 2) a Am{U c 3) b Am{U c 4) c Am{U d

9) Which of the following principles of Cooperation were suggested by International Cooperative

Alliance Council held at Manchester in 1995 ?

a) Cooperation among Cooperatives. b) Concern for Community.

c) Political and Religious Neutrality. d) Cash Trading.

Answer options :

1) a and b 2) a and c 3) b and c 4) c and d

10) {dYmZ I … ''~r. ~r. ‘hmOZ g{‘VrZo ̂ maVmVrb gmIa CÚmoJmg§~§YrÀ¶m Amnë¶m {e’$maergh g{‘VrMm Ahdmb E{àb
1998 ‘Ü¶o ^maV gaH$mabm gmXa Ho$bm.''
{dYmZ II … ''S>r. ìhr. H$nya g{‘VrZo noQ´>mo-Ho${‘H$ëg CÚmoJmg§~§YrÀ¶m {e’$maergh Amnbm Ahdmb 1986 gmbr ̂ maV
gaH$maH$S>o gwnyX© Ho$bm.''
n¶m©¶r CÎmao …
1) ’$º$ I ¶mo½¶ Amho 2) ’$º$ II ¶mo½¶ Amho
3) I Am{U II XmoÝhrhr A¶mo½¶ AmhoV 4) I Am{U II XmoÝhrhr ¶mo½¶ AmhoV

10) Statement I : "B. B. Mahajan committee submitted to the Govt. of India, its reports in April 1998

with their recommendations for sugar industry in India".

Statement II : "D. V. Kapur committee submitted their reports in 1986 to the Govt. of India, with

their reeommendations for petro-chemical Industry in India".

Answer options :

1) Only I is correct 2) Only II is correct

3) I and II both are incorrect 4) I and II both are correct
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11) Imcrcn¡H$s H$moUVo ghH$mamMo ‘ycVÎdo Zmhr ?
1) EopÀN>H$ d Iwco g^mgXËd 2) cmoH$emhr {Z¶§ÌU
3) g^mgXm§Mm Zm-Am{W©H$ gh^mJ 4) ghH$mamMo {ejU

11) Which of the following is not the principle of cooperation ?

1) Open and voluntary membership 2) Democratic control

3) Member’s non-economic participation 4) Co-operative education

12) ""ghH$mar A¶eñdr Pmcm Amho ‘mÌ ghH$ma ¶eñdr PmcmM nm{hOo"" ho {dYmZ .......... ¶m§Zr Ho$co hmoVo.
1) ^maVr¶ {Z¶moOZ ‘§S>i 1985 2) A{Ic ^maVr¶ J«m‘rU nV nmhUr 1954
3) ZrVr Am¶moJ 2016 4) ZaqghZ g{‘Vr

12) "Cooperation has failed but cooperation must succeed" this statement was stated by

1) Planning Commission of India 1985 2) All India Rural Credit Survey 1954

3) NITI Aayog 2016 4) Narsimhan Committee

13) ghH$mamMr Imcrc ì¶m»¶m H$moUr ‘m§S>cr Amho ?
""g‘mZ Am{W©H$ C{Ôï> gmÜ¶ H$aÊ¶mgmR>r g‘mZ JaOm AgUmao AZoH$ cmoH$ ñdoÀN>oZo Á¶m MidirV gh^mJr hmoVmV
Ë¶mg ghH$ma Ago åhUVmV"".
1) ìhr. Ec. ‘ohVm 2) EM. H$ëìhQ>© 3) gr. E’$. pñQ´>³Q>’§§$S> 4) darcn¡H$s H$moUrhr Zmhr

13) Who has stated the following definition of co-operation ?

"A movement in which many people with similar needs voluntarily join together to achieve a

common economic objective is called co-operation’.

1) V.L. Mehta 2) H. Colvert 3) C.F. Strictfund 4) None of above

14) ...... ^maVmVrb ghH$mar MidirMo Xmof AmhoV.
a) {ZYrMr H$‘VaVm b) ImOJr g§ñWm§er ñnYm©
c) J«m‘rU ^mJmVrb OrdZ‘mZ C§MmdÊ¶mg ‘XV d) Xmof¶wº$ ì¶dñWmnZ Am{U ZoV¥Ëd
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (b), (c) Am{U (d) 3) (a), (b) Am{U (d) 4) (a), (b), (c) Am{U (d)

14) .............. are the weakness of the Indian Cooperative Movement.

a) Lack of funds b) Competition from private agencies

c) Helped for improving life in Rural area d) Defective Management and Leadership

Answer options :

1) (a), (b) and (c) 2) (b), (c) and (d) 3) (a), (b) and (d) 4) (a), (b), (c) and (d)

8) ‘hmamḯ> O‘rZ ‘hgyb g§{hVm 1966
1) ‘hmamï´> O‘rZ ‘hgyc g§{hVm 1966 À¶m H$c‘ 255 Zwgma H$moUË¶mhr ‘hgyc A{YH$mè¶mg‘moa XmIc Ho$coco H$moUVohr

Anrc, Vo XmIc Ho$ë¶mÀ¶m VmaIonmgyZ ............. À¶m AmV {ZH$mcr H$mT>co Omdo.
1) ghm ‘{hZo 2) EH$ df© 3) 90 {Xdg 4) XmoZ df©

1) As per Section 255 of the Maharashtra Land Revenue Code 1966, any appeal filed before any

Revenue Officer shall be disposed off within a period of ______ from the date on which such

appeal is filed.

1) Six months 2) One year 3) 90 days 4) Two years
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2) ‘hmamï´> O‘rZ ‘hgyb g§{hVm 1966 À¶m Imbrbn¡H$s H$moUË¶m H$b‘m§VJ©V {deof H$maUmgmR>r O{‘Zr XoÊ¶mÀ¶m VaVwXr
Ho$ë¶m AmhoV?
1) H$b‘ 19 2) H$b‘ 20 3) H$b‘ 21 4) H$b‘ 22

2) Which provision of Maharashtra Land Revenue Code, 1966 provides for assignment of Lands for

special purposes ?

1) S. 19 2) S. 20 3) S. 21 4) S. 22

3) ‘hmamï´> O‘rZ ‘hgyb g§{hVm 1966 À¶m H$b‘ ...... Zwgma H¥$fr à¶moOZmgmR>r dmnabobr O‘rZ {Oëhm{YH$mè¶m§À¶m
nadmZJrZo H$moUË¶mhr AH¥${fH$ H$maUm§gmR>r dmnabr OmD$ eH$Vo.
1) 42 (1) 2) 45 3) 47 (2) 4) 48

3) As per section ...... of thee Maharashtra Land Revenue Code, 1966 the land used for nagricultural

purpose can be used for any non-agricultural purposes with the permission of the collector.

1) 42 (1) 2) 45 3) 47 (2) 4) 48

4) ‘hmamï´> O‘rZ ‘hgyc g§{hVm 1966 À¶m .............. Zwgma {dH$mg AmamIS>çmV g‘m{dï> Agcoë¶m joÌmV Agcoë¶m
O{‘ZrMm dmna ~XcÊ¶mgmR>r H$moUË¶mhr nadmZJrMr Amdí¶H$Vm Zmhr.
1) H$c‘ 42 (E) 2) H$c‘ 42 (~r) 3)  H$c‘ 42 (gr) 4)  H$c‘ 42 (S>r)

4) According to ______ of the Maharashtra Land Revenue Code 1966, no permission is required

for change of use of land situated in area covered by Development Plan.

1) Section 42 (A) 2) Section 42 (B) 3) Section 42 (C) 4) Section 42 (D)

5) ‘hmamï´> O‘rZ ‘hgyb g§{hVm 1966 A§VJ©V Oa {Oëhm{YH$mè¶m§nojm H${Zð> XOm©À¶m A{YH$mè¶mZo {ZU©¶ {Xbm Agob
Va ...... {Xdgm§Mr ‘wXV g§në¶mZ§Va Anrb H$aVm ¶oUma Zmhr.
1) 65 2) 60 3) 35 4) 30

5) Under Maharashtra Land Revenue Code, 1966 no appeal shall be brought after the expiration of

days if, the decision have been passed by an officer inferior in rank to a collector.

1) 65 2) 60 3) 35 4) 30

6) ‘hmamï´> O‘rZ ‘hgyb g§{hVm 1966 Mo Imbrbn¡H$s H$moUVo H$b‘ Hw$Q>rb O‘rZ/joÌmÀ¶m gr‘m gairH$aUmer g§~§{YV
AmhoV?
1) H$b‘ 137 2) H$b‘ 200 3) H$b‘ 167 4) H$b‘ 112

6) Which of the following section of Maharashtra Land Revenue Code, 1966 deals with straightening

out crooked boundaries of Land/ Fields ?

1) Section 137 2) Section 200 3) Section 167 4) . Section 112

7) ‘hmamï´> O‘rZ ‘hgyc g§{hVm 1966 Zwgma "" ............ "" åhUOo O{‘ZrÀ¶m Zm|Xr‘Yrc EH$ gyMH$ H«$‘m§H$ OoWo
O{‘ZrMm EH$ ^mJ, Ë¶mMo joÌ’$i Am{U ‘yë¶m§H$Z ñdV§ÌnUo à{dï> Ho$co OmVo.
1) gmOm H«$‘m§H$ 2) ^mS>o H$ama H«$‘m§H$ 3) gd}jU H«$‘m§H$ 4) dJ© H«$‘m§H$

7) As per Maharashtra Land Revenue Code 1966, "______" means an indicative number in the land

records wherein a portion of land of which the area and assessment are separately entered.

1) Saza Number 2) Tenancy Contract Number

3) Survey Number 4) Class Number
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8) ‘hmamï´> O‘rZ ‘hgyc g§{hVm 1966 À¶m g§X^m©V Imcrcn¡H$s H$moUVo {dYmZ/Zo ~amo~a Amho/AmhoV ?
a.  ^moJdQ>mXmam§Mo A{YH$ma geV© AmhoV.
b. JmdmVrc gmB©Q>‘Yrc O{‘Ztda H$mhr àH$aUm§‘Ü¶o O‘rZ ‘hgyc AmH$macm OmUma Zmhr.
c.  ¶m H$m¶ÚmÀ¶m H$c‘ 131 AÝd¶o {Xcocr "gZX 5 dfm©À¶m O‘rZ YmaUoZ§Va emgZ Oá H$aUo.
n¶m©¶r CÎmao :
1) ’$º$ a 2) ’$º$ a  Am{U c 3) ’$º$  a  Am{U b 4)  ’$º $c

8) Which of the following statement/s is/are correct in respect of Maharashtra Land Revenue Code

1966 ?

a. Occupants Rights are conditional.

b. No land revenue to be levied in certain cases of lands within sites of village.

c. ‘Sanad’ granted under Section 131 of this Act is forfeited by Government after a period of 5

years of land holding.

Answer options :

1) Only a 2) Only a and c 3) Only a and b 4) Only c

9) ‘hmamï´> O‘rZ ‘hgyc g§{hVm 1966 À¶m H$c‘ 161(1) Zwgma {Oëhm{YH$mar, JmdmVrc H$moUmÀ¶mhr Vmã¶mV
Zgcoë¶m gd© O{‘ZrÀ¶m ì¶dñWmnZmMr ¶moOZm Am{U Ë¶mg§~§Yr gd© ~m~tZm ‘yV© ñdén XoUmao ........... V¶ma H$aVrc.
1) Zr{V nÌH$ 2) coIm narjU Ahdmc 3) {dVaU ¶mXr 4) {ZñVma nÌH$

9) As per Section 161(1) of Maharashtra Land Revenue Code 1966, the Collector shall prepare a

______ embodying a scheme of management of all unoccupied land in a village and all matters

incidental thereto.

1) Niti Patrak 2) Audit Report 3) Distribution list 4) Nistar Patrak

9)  O‘rZ A{YJ«hU H$m¶Xm
1) ''amB©Q> Qy> ’o$Aa H$m°ånoÝgoeZ A±S> Q´>mÝñnaÝgr BZ b°ÊS> A°¹$s{PeZ, [ah°{~{bQ>oeZ A±S> [agoQ>b‘|Q>, A°³Q> 2013''

Zwgma {Z¶mo{OV {R>H$mUr {H$‘mZ ...... gw{dYm d g§gmYZo AgVrb.
1) 18 2) 22 3) 24 4) 25

1) As per the "Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and

Resettlement, Act 2013" planned settlement would have minimum ...... facilities and resources.

1) 18 2) 22 3) 24 4) 25
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CÎmao - (5) J««m‘rU g‘mO gwYmaUm CnH«$‘

1) J«m‘rU g‘mO

2) J«m‘rU amOH$maU - ŷ‘r gwYma
1-1 2-3 3-2 4-3 5-4 6-3 7-3 8-2 9-2 10-3
11-2 12-2 13-3 14-4 15-1 16-3 17-2 18-1 19-2 20-3
21-1 22-3

3) J«m‘rU AW©H$maU
1-4 2-2 3-3 4-1 5-1 6-2 7-3 8-2 9-3 10-1
11-1 12-1 13-3 14-3 15-2 16-3 17-3 18-3 19-3

4) J«m‘rU  nm¶m ŷV g§aMZm
1-3 2-3 3-4 4-3 5-2 6-3 7-4 8-4 9-4 10-2

11-3 12-4 13-2 14-4 15-4 16-1 17-3 18-1

5) J«m‘rU {dH$mg
1-2 2-1 3-2 4-4 5-4 6-4 7-4 8-4 9-4 10-2
11-3 12-2

6) H¥$fr {dH$mg
1-4 2-1 3-4 4-3 5-1 6-2 7-2 8-3 9-2 10-1

11-1 12-1 13-2 14-3 15-4 16-3 17-3 18-3 19-3 20-3
21-3 22-3 23-2 24-2 25-1 26-2 27-3 28-3 29-3 30-2

31-3

7) J«m‘rU ghH$mar ¶§ÌUm
1-4 2-3 3-1 4-2 5-4 6-4 7-2 8-4 9-1 10-4
11-3 12-2 13-1 14-3

8) ‘hmamḯ> O‘rZ ‘hgyb g§{hVm 1966
1-2 2-4 3-1 4-1 5-2 6-1 7-3 8-3 9-4

9)  O‘rZ A{YJ«hU H$m¶Xm
1-4


